	Uto Later Batala			ntment of R	-									
	Hindustan Petroleun	n Corporation I	limited p	Estimated	appoint Re	etail Out						s:	Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*		Dimension ( ne site (in So			rranged by the icant	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC 1 SC PH ST CC 1 ST PH OBC CC 1 OBC CC 1 OBC CC 1 OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	ANYWHERE IN VKI ON ROAD WIDER THAN 70 FEET	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
2	ON LHS WHILE GOING FROM JAIPUR TO DELHI BETWEEN KM STONE 150 TO 152 ON NH48	JAIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
3	On SH12, Between Km Stone 1 to 5 while moving from Sanganer to Phagi	JAIPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
4	ON LHS WHILE GOING FROM DELHI TO JAIPUR BETWEEN KM	JAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
5	STONE 215 TO 217 ON NH48 ON LHS WHILE GOING FROM JAIPUR TO DELHI BETWEEN KM	JAIPUR	REGULAR	150	Open	СС	35	35	1225	32	12	Bidding	30	5
6	STONE 200 TO 202 ON NH48 Within 2 Kms from Beelwari Bus Stand towards Shahpura, on	JAIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
7		JAIPUR				CFS		20	400	0	0			3
	ON AKHEPURA ROAD BETWEEN VKI ROAD NO 17 AND NH48 BETWEEN KM STONE No. 38 TO 43 ON LHS FROM KOTA TO		REGULAR	150	ST		20					Draw of Lots	0	
8	JAIPUR ON NH-52(OLD NH-12) ON LHS WHILE GOING FROM JAIPUR TO DELHI BETWEEN KM	JAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
9	STONE 190 TO 195 ON NH48	JAIPUR	REGULAR	150	Open	СС	35	35	1225	32	12	Bidding	30	5
10	WITHIN MUNICIPALITY LIMIT OF CHAKSU, ON SH02 FROM KOTKHAWDA MOD TOWARDS PHAGI	JAIPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
11 12	WITHIN MUNICIPAL LIMITS OF SHAHPURA WITHIN MUNICIPAL LIMIT OF PAOTA	JAIPUR JAIPUR	REGULAR REGULAR	100 100	Open SC	DC CFS	30 30	30 30	900 900	32 0	55 0	Draw of Lots Draw of Lots	15 0	5
13	FROM T SECTION OF NH 248 TOWARDS JAISINGH PURA KHOR ON MAANBAGH JAISINGH PURA KHOR ROAD	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
14	WITHIN MUNICIPAL LIMIT OF VIRATNAGAR	JAIPUR	REGULAR	100	Open CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
15	ON LHS OF VATIKA ROAD WITHIN 1 KM FROM TONK ROAD TOWARDS VATIKA	JAIPUR	REGULAR	150	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
16	WITHIN MUNICIPAL LIMITS OF CHAKSU WITHIN 25 KM FROM CHANDWAJI BUS STATION TOWARDS	JAIPUR	REGULAR	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
17	JAIPUR ON NH 248	JAIPUR	REGULAR	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
18	ON SHIKARPURA ROAD, BETWEEN SH12 AND VATIKA ROAD	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
19	Village Muhana, Tehsil Sanganer on Muhana Kapoorawala road.	JAIPUR	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
20	ON RHS WHILE GOING FROM MANOHARPUR TO DAUSA BETWEEN KM STONE 15 TO 20 ON NH148	JAIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
21	ON RHS WHILE GOING FROM JAIPUR TO DELHI BETWEEN KM STONE 187 TO 189 ON NH48	JAIPUR	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
22	Between Pratap Gate (at Tonk road) and Akshaypatra Junction (at Mahal road) on Rana Sanga marg	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
23	JAIPUR ON NH-52(OLD NH 12)	JAIPUR	REGULAR	150	Open CC 2	CC	35	35	1225	32	12	Bidding	30	5
24	WITHIN 5 KM FROM BARKHERA TOLL PLAZA TOWARDS	JAIPUR	REGULAR	150	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
25	KOTHUN ON NH-52 (OLD NH 12) ON LHS WHILE GOING FROM JAIPUR TO DELHI BETWEEN KM	JAIPUR	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
26	STONE 185 TO 190 ON NH48 VILLAGE PRAHALADPURA TEHSIL SANGANER ON BETWEEN OPPOSITE RAILWAY UNDERPASS TO BALAJI TEMPLE ON	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
27	MAHAL ROAD ON LHS WHILE GOING FROM MANOHARPUR TO DAUSA	INDUD	DECLUAR	150	0	DC	25	25	1005	22	05	Dura of Lota	15	
27	BETWEEN KM STONE 6 TO 11 ON NH148 ON LHS WHILE GOING FROM JAIPUR TO DELHI BETWEEN KM	JAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
28	STONE 180 TO 185 ON NH48 ON LHS WHILE GOING FROM JAIPUR TO DELHI BETWEEN KM	JAIPUR	REGULAR	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
29	STONE 170 TO 175 ON NH48	JAIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
30	ON VKI ROAD NO 9 ON LHS WHILE GOING FROM MANOHARPUR TO DAUSA	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
31	BETWEEN KM STONE 1 TO 5 ON NH148 WITHIN MUNICIPAL LIMIT OF MANOHARPUR ON	JAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
32	MANOHARPUR TO KHORA ROAD	JAIPUR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
33	On State Highway 8B Between KM Stone No. 5 to 9	JAIPUR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
34	Within Municipal Limits, Revenue Village Sirsi, Tehsil Jaipur	JAIPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
35	On NH 48 Between KM Stone 316 and 320 on LHS Side while moving from Jaipur to Ajmer	JAIPUR	REGULAR	150	Open	сс	35	35	1225	32	12	Bidding	30	5
36	Revenue Village Kalyanpura, Tehsil Amber on SH 19 Within 3 KMs from Mahatma Gandhi Govt School Main gate,	JAIPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
37	Mamana on SH 100 towards Roopangarh Within 2 Kms from Intersection of NH48 Delhi Jaipur Stretch	JAIPUR	REGULAR	100	Open CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
38	and Maharana Pratap Road on Maharana Pratap road towards Rangoli Gardens	JAIPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
39	Revenue Village Mori, Tehsil Amber on SH 19	JAIPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
40	Revenue Village Bhikhawas, Tehsil Jobner on SH 2C	JAIPUR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
41	Within 3 KMs from Shiv Adarsh Multispeciality Hospital Main gate towards Neemera on Sirsi Road	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
42	Within 3 kms from intersection of SH 2 and SH 90 on SH 90 towards Khatwadi Khurd	JAIPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
43	Jaipur within Municipal Limits except on any National highway and State highway	JAIPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site ( M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
44	Within 5 KMs from Intersection of NH 48 underpass with NH 52 (Jaipur Sikar Road) on LHS side of Service road of NH 48 while going from Jaipur to Delhi	JAIPUR	REGULAR	150	Open	DC	30	30	900	32	75	Draw of Lots	15	5
45	Within 3 Kms from Hotel Hari Krishna Palace, Daulatpura towards Jaipur on Service Road of NH 48, LHS side while aoing from Delhi to Jaipur	JAIPUR	REGULAR	150	Open	DC	30	30	900	32	75	Draw of Lots	15	5
46	Revenue Village Mandha Bhimsingh, Tehsil Kishangarh Renewal on SH 2C	JAIPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
47	On SH 112, within 5 KMs from interestion of Charanwas Pachar Road with SH 112 towards Shree Ek Janti Balaji Mandir	JAIPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
48	Between KM stone 309 to 312 on LHS side while moving from Jaipur to Aimer on NH-48	JAIPUR	REGULAR	150	Open	CC	35	35	1225	32	12	Bidding	30	5
49 50	Anywhere in RIICO Kaladera Industrial Area Bagru within municipal limit except on NH 48	JAIPUR JAIPUR	REGULAR REGULAR	100 100	Open OBC PH	DC CC	30 30	30 30	900 900	32 32	55 12	Draw of Lots Bidding	15 30	5
51	Within 2 KM from Ashiana Umang towards Mahindra World City (SEZ) on vertical spine road	JAIPUR	REGULAR	100	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
52	Within 2 Kms from intersection of NH 48 with Mahapura Road on Mahapura Road towards Mahapura	JAIPUR	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
53	Between KM Stone No. 342 to 345 on NH 48 on LHS side while coming from Aimer to Jaipur	JAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
54	Within 4 KMs from intersection of underpass of Jaipur Delhi NH-48 road and Gandhi Path road towards Lalarpura on Gandhi Path Road	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
55 56	On NH 52, between KM Stone 270 to 275 Revenue Village Gori Ka Bas, Tehsil Chomu on SH-19	JAIPUR	REGULAR	150 100	Open ST	CC CFS	35 35	35 35	1225 1225	32 0	12 0	Bidding Draw of Lots	30 0	5
57	On NH-48, Between Km Stone No. 275 to 280	JAIPUR	REGULAR	150	Open	DC	30	30	900	32	75	Draw of Lots	15	5
58	Anywhere in RIICO Industrial Area in Tehsil Kishangarh Renewal On NH 48 between KM Stone No. 314 to 318 on RHS Side	JAIPUR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
59	while moving from Jaipur to Ajmer	JAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
60	On SH 100, Within 3 Kms from intersection of Pingun Moradi Road with SH 100 towards Roopangarh	JAIPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
61 62	On Bagru Jhag Road in Village Sawai Jaisingpura, Tehsil Phagi On NH 48 Between KM Stone No. 312 and 316 on LHS Side	JAIPUR	REGULAR	100	OBC Open	DC CC	30 35	30 35	900 1225	32	55	Draw of Lots Bidding	15 30	4
63	while moving from Jaipur to Ajmer On NH 48 between KM Stone No. 320 to 330 on RHS Side	JAIPUR	REGULAR	150	Open CC 1	сс	35	35	1225	32	12	Bidding	30	5
64	while moving from Jaipur to Ajmer On NH 52, between KM stone No. 260 to 264	JAIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
65	Within 3 KM from JP Circle, Neer Sagar Market, Bhankarota towards Neemera on MDR 81 (Mukundpura road)	JAIPUR	REGULAR	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
66	On SH 19 Within 4 kms from Bai Ka Bas Bus Stand located on SH19 towards Renwal	JAIPUR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
67	Within 4 KMs from intersection of SH 2C and SH 8A towards Renwal on SH 8A	JAIPUR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
68	Within 3 KMs from intersection of NH 48 and Benad road towards Boytawala on Benad Road, RHS SIDE while moving from NH 48 intersection to Boytawala	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
69	Chomu within Municipal Limits On Vaishali Marg West, Within 2 KM from Underpass of NH-	JAIPUR	REGULAR	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
70	48 Jaipur Delhi Stretch towards Mandana marriage garden Anywhere in Durgapura on roads wider than or equal to 80	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
71	feet. On Haldighati Road connecting Haldighati gate at Tonk road	JAIPUR	REGULAR	150 150	Open Open	DC DC	20 20	20 20	400	32	75	Draw of Lots Draw of Lots	15	5
72	and NRI chauraha at Mahal road ON RHS WHILE GOING FROM JAIPUR TO DELHI BETWEEN KM	JAIPUR	REGULAR	150	OBC CC 1	сс	35	35	1225	32	12	Bidding	30	4
74	STONE 160 TO 165 ON NH48 ON NH -52 FROM AKHEPURA TOLL TOWARD REENGUS	SIKAR	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
75	WITHIN 9 KM 10 KM Either Side of KM Stone No. 168 on NH21 RHS while moving from Sikandara to Dausa	DAUSA	REGULAR	150	Open PH	СС	35	35	1225	32	12	Bidding	30	5
76	On New Sanganer Road, Between intersection of B2 By Pass with New Sanganer Road and Mansarovar Metro Station	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
77	Between Bharat Mata Circle and Vande Matram Circle on vande Matram Marg ( 200 Feet Road)	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
78	On roads wider than or equal to 80 feet anywhere in Ramnagariya, Jaipur	JAIPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
79	Between 7 Number Chauraha and Bombay Hospital(Jagatpura) on Mahal Road	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
80	Anywhere in Indira Gandhi Nagar on Roads wider than or equal to 80 feet	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
81 82	On roads wider than or equal to 80 feet anywhere in Jaisinghpura within municipal limit Jaipur On VIT road, within 6 kms from NRI Chauraha	JAIPUR	REGULAR REGULAR	150 150	Open Open	DC DC	30 20	30 20	900 400	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
82	On VIT road, within 6 kms from NRI Chaurana On roads wider than or equal to 80 feet anywhere in Jagatpura, Jaipur	JAIPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
84	WHILE GOING FROM MANOHARPUR TO DAUSA BETWEEN KM STONE No. 8 TO 13 ON NH148	JAIPUR	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
85	On Muhana Mandi Road between Diggi Malpura Road & Jaipur Ring Road	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
86	Anywhere in Nirman Nagar on road wider than or equal to 80 feet	JAIPUR	REGULAR	150	Open CC 1	DC	20	20	400	32	75	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensic of the site M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OBC PEN OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
87	Between Stone No. 207 to 219 on Agra- Jaipur Highway NH 21	JAIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
88	Between Bagrana mod and Shivdasura mod on Jaipur ring road service road	JAIPUR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
89	Within 3 Kms of 7 No. Chauraha(at Mahal Road) On Airport Road	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
90	Anywhere in Shyam Nagar on Roads wider than or equal to 80 feet	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
91	On roads wider than or equal to 80 feet Anywhere in Mangyawas, Jaipur	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
92	Between Gopalpura Mod (at Tonk road) and Gujar ki Thadi Chauraha on Gopalpura by pass Road via Ridhi Sidhi Circle	JAIPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
93	On roads wider than or equal to 80 feet Anywhere in Jaipur within Municipal Limit, Jaipur	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
94	On roads wider than or equal to 80 feet Anywhere in Narayan Vihar, Jaipur	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
95	On road connecting Mansarovar Metro Station and intersection of Ajmer Highway(NH-48) with 200 Feet Bypass road	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
96	Within 3 KMs from intersection of Haldighati Marg with Shikarpura Road on Shikarpura road.	JAIPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
97	On roads wider than or equal to 80 feet Anywhere in Mansarovar, Jaipur	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
98	On roads wider than or equal to 80 feet Anywhere in Sitapura, Jaipur	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
99	On Goner road from the oberoi Raj Vilas palace to sant Shri Asaramji Ashram	JAIPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
100	On roads wider than or equal to 80 feet anywhere in Jhotwara, Jaipur	JAIPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
101	On service road, LHS of 200 feet By Pass road while going from Delhi to Ajmer, connecting Benad road and Kalwar road	JAIPUR	REGULAR	150	Open	DC	30	30	900	32	75	Draw of Lots	15	5
102	Upto 5 kms from intersection of Ajmer Highway(NH-48) with 200 Feet Bypass road towards Civil Lines on Ajmer road	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
103	On roads wider than or equal to 80 feet Anywhere in Khatipura, Jaipur	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
104	Upto 4 kms from intersection of new Sanganer road with Diggi Malpura road on Diggi Malpura Road	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
105	Between Goner mod on Tonk road to Mahatma Gandhi Hospital circle on Mahatma Gandhi Road On service road, LHS of 200 Feet By pass road while going	JAIPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
106	from Delhi to Ajmer, connecting Ajmer road and Khatipura road	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
107	Between Rambagh Circle and Pratap Gate on Tonk road	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
108	Within 2 KM from Arya Balika Uchch Madhyamik Vidyalaya on NH 248A on LHS while moving towards Bharatpur	ALWAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
109	Within 6 KM from Bapi Bus Stop on NH 148 towards Dausa	DAUSA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
110	Within Revenue Village Nagawas, Tehsil Bandikui on SH 78 Within 5KM from Police Station Bagar Tiraha on NH 248A	DAUSA	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
111	towards Ramgarh on Sohna Alwar Road	ALWAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
112 113	Within Muncipal Limits of Bardod on SH 14 Between Km Stone No. 142 to 144 on NH 21 RHS while	ALWAR DAUSA	REGULAR	100	Open CC 1 OBC	DC DC	35 35	35	1225 1225	32	75 95	Draw of Lots Draw of Lots	15 15	5
	Moving from Jaipur to Agra Revenue Village Jhankra, Tehsil Reni on NH 921	ALWAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
115	Within 3 Km from Old Bus Stand Behror on SH111 Revenue Village Dalelpura, Tehsil Dausa on Service road of NH	ALWAR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
116	148	DAUSA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
117	Within 2KM from Shubhash Chowk on Kothputli Bypass Road Within 3KM from Rasidpur Police Chowki on NH 921 Mahuwa	ALWAR	REGULAR	100	OBC ST	DC CFS	30 35	30 35	900 1225	32	55	Draw of Lots Draw of Lots	15 0	4
119	Mandawar Road Between KM stone No. 15 and 17 on NH 11B	DAUSA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
120	Between Km Stone 72 to 75 on SH 52	ALWAR DAUSA	REGULAR	100 150	Open	DC DC	35	35	1225	32	75 95	Draw of Lots	15 15	5
121 122	Village Khedawas, Tehsil NangalRajawtan on NH 148 Within Revenue Village Dungarpur, Tehsil Rahuwas on NH 148 RHS towards Lalsot	DAUSA	REGULAR	150	OBC Open	DC	35 35	35 35	1225 1225	32	95	Draw of Lots Draw of Lots	15	4 5
123	Within Muncipal Limit of Village Baswa Except on SH 25 Within Muncipal Limit of Village Rajgarh, Tehsil Rajgarh	ALWAR	REGULAR	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
124 125	Within Muncipal Limit of Village Kajgarn, Tensil Rajgarn Except on SH25 and NH 921 Between Km Stone 147 and 153 on NH 21 RHS Towards Agra	ALWAR	REGULAR REGULAR	100 150	Open CC 2 OBC CC 1	DC CC	30 35	30 35	900 1225	32 32	55	Draw of Lots Bidding	15 30	5
126	5 KM Either Side of KM Stone No. 50 on NH 23 Lalsot Kothun	DAUSA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
127	Road Within 3 KM on either side of Majri Kalan Post Office on SH	ALWAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
128	111 Within Muncipal Limit Mandawar Except on SH 78 and NH	DAUSA	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
129	921 On RHS Between Km Stone No. 154 and 156 on SH 25 while moving towards Bhiwadi	ALWAR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
130	On LHS Within 2KM from T-Point of Lalsot Kothun Road (NH- 23) within Muncipal Limit of Lalsot	ALWAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
131	Within Muncipal Limit of Alwar on Manu Marg	ALWAR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensic of the site M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
132	Between KM Stone 31 and 34, RHS on NH 148A while moving towards Dausa to Lalsot	DAUSA	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
133	On LHS Between Km Stone No. 179 to 181 on NH 21 while moving towards Agra	DAUSA	REGULAR	150	Open	CC	35	35	1225	32	12	Bidding	30	5
134	Within Muncipal Limits of Alwar on Itarana Road	ALWAR	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
135 136	On LHS Between Km Stone 138 to 141 while moving towards Jaipur on NH 48 Within Revenue Village Baniyana, Tehsil Lawan on SH 2	ALWAR DAUSA	REGULAR REGULAR	150 100	OBC SC	CC CFS	35 35	35 35	1225 1225	32 0	12 0	Bidding Draw of Lots	30 0	4
137	Between Km Stone 16 to Km Stone 22 on SH 44 Moving Towards Laxmangarh	ALWAR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
138	Between KM Stone No. 93 and 95 on SH 22 Hindaun Road	DAUSA	REGULAR	100	Open CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
139	BETWEEN KM STONE No. 306 TO 311, RINGUS - SIKAR ROAD ON NH -52	SIKAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
140	VILLAGE - KHIDARSAR ON SH -8 ( SIKAR -JHUNJHUNU ROAD)	JHUNJHUNU	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	VILLAGE -BAGHESHWAR ON SH 37B , IN PATAN TEHSIL VILLAGE : BALAJI KA NADA ON SIKAR TO JHUNJHUNU ROAD	SIKAR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
142	SH -8 ON EITHER SIDE VILLAGE - VIJAYPURA , ON SH -8A IN DANTARAMGARH	SIKAR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
143 144	TEHSIL WITHIN MUNICIPAL LIMIT OF SIKAR	SIKAR SIKAR	REGULAR	100 100	OBC Open	DC DC	35 30	35 30	1225 900	32 32	75 55	Draw of Lots Draw of Lots	15	4
	VILLAGE: BHUDOLI ON SH 37 B, IN NEEM KA THANA TEHSIL	SIKAR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
146	WITHIN 5 KM ON EITHER SIDE OF SANWALI (CHOUDHARY CHARAN SINGH CIRCLE ) CIRCLE ON JAIPUR - BIKANER HIGHWAY NH 52	SIKAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
147	BETWEEN KM STONE No. 6 TO 9 WHILE GOING FROM BISSAU TO JHUNJHUNU ON SH -37	JHUNJHUNU	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
148	UP TO 3 KM FROM SANWALI ( CHOUDHARY CHARAN SINGH ) CIRCLE TOWARDS SIKAR CITY ON SIKAR - DANTA ROAD	SIKAR	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
149	Between KM Stone No. 88 to 83 on SH- 24 under Jaipur district	JAIPUR	REGULAR	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
150	WITHIN TOWN LIMIT OF BISSAU, IN JHUNJHUNU DISTRICT	JHUNJHUNU	REGULAR	100	OBC PH	СС	30	30	900	32	12	Bidding	30	4
	WITHIN TOWN LIMIT OF MUKUNDGARH WITHIN 5 KM FROM INTERSECTION OF NH -52 , ON	JHUNJHUNU	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
152	LAXMANGARH -SALASAR ROAD SH -83 VILLAGE - HANUMANPURA, ON KHATOO -MANDHA ROAD	SIKAR	REGULAR	100	Open OBC	DC DC	35	35	1225	32	75	Draw of Lots	15	5
153			REGULAR			CFS	35	35	1225	32	0	Draw of Lots	0	
154 155	VILLAGE - NECHWA ON SIKAR - SALASAR ROAD ON SH -20 WITHIN MUNICIPAL LIMIT OF JHUNJHUNU CITY	SIKAR	REGULAR	100 100	SC Open	CFS	35 30	35 30	1225 900	0 32	12	Draw of Lots Bidding	30	3
156	WITHIN MUNICIPAL LIMIT OF FATEHPUR ON FATEHPUR - CHURU ROAD NH 52	SIKAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
157	VILLAGE - KURLI, ON JAIPUR -SIKAR -JHUNJHUNU BY PASS ROAD, IN SIKAR TEHSIL	SIKAR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
158	BETWEEN KM STONE 142 TO 148 ON SH 37 ( UDAIPURWATI - JHUNIHUNU ROAD) WITHIN MUNICIPAL LIMIT OF REENGUS ON JAIPUR BIKANER	JHUNJHUNU	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
159	WITHIN MUNICIPAL LIMIT OF REENGUS ON JAIPUR BIKANER HIGHWAY NH 52 ON NH -52 FROM AKHEPURA TOLL TOWARD SIKAR WITHIN	SIKAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
160	10 KM	SIKAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN TOWN LIMIT OF MALSISAR WITHIN LIMIT OF RIICO AREA OF CHIRAWA	JHUNJHUNU JHUNJHUNU	REGULAR REGULAR	100 100	Open OBC	DC DC	30 30	30 30	900 900	32 32	55 55	Draw of Lots Draw of Lots	15 15	5 4
163	BETWEEN KM STONE No. 146 TO 150 ON SH 8A (KUCHAMAN - SIKAR - DANTA ROAD )	SIKAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
164	ON NH -52 FROM RASHIDPURA TOLL TOWARDS LAXMANGARH WITHIN 6 KM	SIKAR	REGULAR	150	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
165 166	Taranagar Within Municipal limit on SH-6 Between Km Stone 450 to 460 on NH 11 (Ratangarh- Bikaner	CHURU	REGULAR	100	OBC Open	DC DC	35	35	1225 1225	32	75 95	Draw of Lots Draw of Lots	15	4
167	Road) Between Km stone 58 to 69 on NH 58 (Salasar- Sujangarh	CHURU	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Road) Rajgarh (Sadulpur) Within Municipal limit	CHURU	REGULAR	130	Open	DC	30	30	900	32	55	Draw of Lots	15	5
169	Sujangarh Within Municipal limit Between Km stone 145 to 154 on SH-6 (Sardarshahar- Bhaleri	CHURU	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
170	Road) Between Kmstone 217 to 222 on SH 7 (Ratangarh-	CHURU	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
171 172	Sardarshahar Road) Sardarshahar within municipal limits	CHURU	REGULAR	100	Open SC CC 1	DC CFS	35 30	35 30	1225 900	32 0	75	Draw of Lots Draw of Lots	15	5
172	Between Km stone 42 to 49 on NH 58 (Fatehpur- Salasar Road)	CHURU	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
174	Between Km stone 200 to 207 on SH-6 (Taranagar-Rajgarh Road)		REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
175 176	Anupgarh within Municipal Limits (Not on NH/SH) Suratgarh within Municipal Limits	SRI GANGANAGAR SRI GANGANAGAR	REGULAR REGULAR	100 100	Open PH SC	CC CFS	30 30	30 30	900 900	32 0	12 0	Bidding Draw of Lots	30 0	5
177 178	Between Km stone 29 to 38 on NH 58 (Fatehpur- Salasar Road) Between Km stone 168 to 180 on SH-6 (Bhaleri- Taranagar	CHURU	REGULAR	150 100	OBC Open	DC DC	35 35	35 35	1225 1225	32 32	95 75	Draw of Lots Draw of Lots	15 15	4
178	Road) Between Kmstone 290 to 293 on SH 7 (Sardarshahar-Pallu	CHURU	REGULAR	100	Open OBC	DC	35	35	1225	32	75		15	4
179	Road) Within Ratangarh Muncipal limits on SH-7	CHURU	REGULAR	100	SC	CFS	35	35	1225	32	0	Draw of Lots Draw of Lots	0	4
181	between Churu collectorate circle (Ambedkar circle) and Pankha circle	CHURU	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
182	Between Kmstone 2 to 11 on SH 6A (Sawai- Kalu Road)	CHURU	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appl		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OBC CC 1 OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
183	Between Kmstone 260 to 264 on SH 7 (Sardarshahar-Pallu Road)	CHURU	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
184	Between Kmstone 282 to 288 on SH 7 (Sardarshahar-Pallu	CHURU	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
185	Road) Between Km Stone 415 to 428 on NH 11 (Fatehpur-Ratangarh	CHURU	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Road) Churu Within municipal limits	CHURU	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
187	Churu Bypass on NH-52	CHURU	REGULAR	150	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
188	Between Km Stone 23 to 25 on NH-52 (Churu- Hisar Road)	CHURU	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	Between Ghantaghar and Collectorate circle, Churu City Sri Ganganagar within Municipal Limits	CHURU SRI GANGANAGAR	REGULAR REGULAR	100 100	SC Open	CFS DC	30 30	30 30	900 900	0 32	0	Draw of Lots Draw of Lots	0	3
	Village Meghana on SH 36 (Taranagar- Nohar Road)	HANUMANGARH	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
192	Between Km Stone 144 to 152 on NH 911 (Anupgarh- Gharsana Road)	SRI GANGANAGAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
193	Between Km Stone 111 to 120 on NH 911 (Raisinghnagar-	SRI GANGANAGAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
194	Anupgarh Road) Between Km Stone 442 to 450 on NH 11 (Ratangarh- Bikaner	CHURU	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Road) Between Shiv Chauk and NH-62 intersection on Ganganagar- Hanumangarh Road via CGR mall within Sri Gangangar	SRI GANGANAGAR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
196	municipal limits Between Km Stone 234 to 236 on NH 62 (Sri Ganganagar	SRI GANGANAGAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
197	bypass) On NH 48 Between KM Stone No. 311 to 315 on RHS Side	JAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
198	while moving from Jaipur to Ajmer On Jobner By pass Road, Tehsil Jobner	JAIPUR	REGULAR	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
199	On SH 8B between KM Stone No. 9 to 14	JAIPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
200	Within 2 kms from Jeetawala Phatak towards Kanota on Kanota - Sambhariya Road	JAIPUR	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
201	Between Mahatma Gandhi Hospital and Apex college on Mahatma Gandhi Road (Goner road)	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
202	Anywhere in Malviya Nagar on road wider than or equal to 80	JAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
203	feet ANYWHERE WITHIN MUNICIPAL LIMIT OF JAIPUR EXCEPT NH	JAIPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	AND SH WITHIN MUNICIPALITY LIMIT OF KOTPUTLI ON SH37B	JAIPUR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
205	ANYWHERE IN VIDYADHARNAGAR ON ROAD WIDER THAN 60 FEET	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
206	WITHIN MUNICIPAL LIMIT OF NAVALGARH ON SH -8 (SIKAR - JHUNJHUNU ROAD)	JHUNJHUNU	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
207	WITHIN MUNICIPAL LIMIT OF SHRIMADHOPUR VILLAGE TARPURA ON SIKAR TO JHUNJHUNU SH-8 LEFT	SIKAR	REGULAR	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
208	HAND SIDE	SIKAR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
209	Village Siroli, Tehsil Sanganer on road wider than or equal to 80 feet Within 6 Km from T point of NH 921 towards Kathoomar on	JAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
210	SH 78	DAUSA	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
211	WITHIN 2 KM FROM RAJ CHEMICAL & MINERALS ON SH 21	JODHPUR	REGULAR	100	Open	СС	35	35	1225	32	12	Bidding	30	5
	REVENUE VILLAGE BAGA ON SOOR SAGAR TO BEROD ROAD WITHIN PIPAR CITY TO SATHEEN ON SATHEEN ROAD	JODHPUR	REGULAR	150 100	SC OBC	CFS DC	30 35	30 35	900 1225	0	0 75	Draw of Lots Draw of Lots	0	3 4
	WITHIN 1 KM OF GOVERNMENT SENIOR SECONDARY SCHOOL ON SURPURA BYPASS ROAD (MATA KI THAN -	JODHPUR	REGULAR	150	Open CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
215	NAGAUR BYPASS ROAD) BETWEEN GORA HOTEL(RING ROAD) TO SARDAR SAMAND ON SARDAR SAMAND ROAD	JODHPUR	REGULAR	100	Open	сс	35	35	1225	32	12	Bidding	30	5
216	BETWEEN BANAR POLICE STATION AND INTERSECTION AT DANGIAWAS FLYOVER OF JODHPUR RING ROAD WITH JODHPUR-JAIPUR ROAD	JODHPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
217	WITHIN JODHPUR NAGAUR NH62 INTERSECTION TO JODHPUR MATHANIA ROAD SH61 INTERSECTION ON JODHPUR RING ROAD	JODHPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
218	WITHIN JODHPUR TINWARI ROAD INTERSECTION TO JODHPUR JAISALMER ROAD NH125 INTERSECTION ON JODHPUR RING ROAD	JODHPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
219	IN BETWEEN NATIONAL LAW UNIVERSITY AND INDIAN INSTITITUTE OF TECHNOLOGY, JODHPUR ON JODHPUR NAGAUR ROAD (NH62) TOWARDS NAGAUR	JODHPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
220	VILLAGE KANKELAO ON SH-58 JODHPUR TO SOJAT ROAD	JODHPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
221	FROM SHATABDI CIRCLE TO GORA HOTEL, CHAMANPURA ON JODHPUR RING ROAD	JODHPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
222	FROM MATA KI THAN TOWARDS 9 MILE ON NAGAUR BYPASS ROAD	JODHPUR	REGULAR	150	Open	DC	30	30	900	32	75	Draw of Lots	15	5
223	INBETWEEN BARKATULLAH STADIUM AND DPS CIRCLE ON PAL ROAD	JODHPUR	REGULAR	150	Open CC 2	DC	30	30	900	32	75	Draw of Lots	15	5
224	WITHIN 5 KM OF AKHILYA CIRCLE TOWARDS SOORSAGAR	JODHPUR	REGULAR	150	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
225	FROM PAOTA CIRCE TO KISHORE BAGH ON MANDOR ROAD TOWARDS MANDORE	JODHPUR	REGULAR	150	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
226	B/W KM 254 STONE TO KM 258 STONE ON NH-62 TOWARDS	JODHPUR	REGULAR	150	Open	сс	35	35	1225	32	12	Bidding	30	5
	NAGAUR	20211101	ALCOLAN	.50	open			55		75		sidding	50	,

I         I	SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appli		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
Image: sector         Image: s	1	2	3	4	5		7		8		9a	9b	10	11	12
Display         Display <t< th=""><th></th><th></th><th></th><th>-</th><th></th><th>SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1</th><th></th><th>Frontage</th><th>Depth</th><th>Area</th><th>working capital requirement for</th><th>required for development of infrastructure</th><th></th><th></th><th></th></t<>				-		SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1		Frontage	Depth	Area	working capital requirement for	required for development of infrastructure			
Image         Commun         Commun </td <td>227</td> <td>JAISALMER NH125 TO JODHPUR NAGAUR NH62 ROAD TOWARDS NH62</td> <td>JODHPUR</td> <td>REGULAR</td> <td>150</td> <td>Open</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>32</td> <td>95</td> <td>Draw of Lots</td> <td>15</td> <td>5</td>	227	JAISALMER NH125 TO JODHPUR NAGAUR NH62 ROAD TOWARDS NH62	JODHPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
Description         Controls	228	ROAD (NH125)	JODHPUR	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
Image: Description of the second of	229	NH-25	JODHPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	
Dist         Dist <thdis< th="">         Dist         Dist         D</thdis<>		LIMITS OTHER THAN NH											-		
Image         Description         Distance															-
pp         ph         ph<         ph< <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>															
Image: Information of the sector of															
pp:         pp: <td></td> <td>JODHPUR ON OSIAN-JODHPUR ROAD</td> <td></td>		JODHPUR ON OSIAN-JODHPUR ROAD													
Image: Notice into into into into into into into into		BETWEEN Village Belwa TO Village Deonagar on Tinwari to													
Image: Add model in the stander forward came in the stander for	238		NAGAUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
all       Charactery       Control       Name       Name <td>239</td> <td></td> <td>JODHPUR</td> <td>REGULAR</td> <td>150</td> <td>OBC</td> <td>СС</td> <td>35</td> <td>35</td> <td>1225</td> <td>32</td> <td>12</td> <td>Bidding</td> <td>30</td> <td>4</td>	239		JODHPUR	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
Chi Dosen Bode Birrika Michiela Di Die Drucceker, AdAMARK Professione January Lance Anther Michiela Di Die Druck (al. 2009)         Concernant Allen Status (al. 2009)         Concernant		ON TINWARI TO CHERAI ROAD												-	
All Notice Net 31:         ADDOPUN         REGURAN 31:         Conc         CA:         Sol         C23         C23         C24         C95         Other Conc         C           10         STOTATES MACTORE 758 TO 756 ON MECK (2010 MEG)         LODEHUR         RECURAN 48         100         STOTATES         C         35         125         C         0         0         Demonstrates         100         C         35         125         C         0         0         Demonstrates         100         C         35         125         C         0         0         Demonstrates         100         C         35         125         C         0         Demonstrates         100         C         35         135         D25         D         Demonstrates         100         C         35         35         D25         D         Demonstrates         100         C         100         C         100         C         100         Demonstrates         100         De		Ossian Road													
In         Part and 2 the original set of Village Iblance of Osciants Physical Set of Village Iblance of Osciants Physical Set of Village Phys		ROAD (NH 125 )													
Date         Control         C		In or around 2 kms on either side of Village Bhikamkor													
124             124		Road													
247       ENVERTING NATIONE 17 0 10 KM 312       MAGAUR       MSOUND #1500       CFS       S5       125       0       0       Deaw of Lots       0       3         247       DEVENDMENT SPEC 5781       STRUM PRAILS CSPCOLIN       JOCHPUR       BEGLIARA       100       Open       DC       35       35       122       32       27       Deaw of Lots       15       5         248       DEVENDMENT ALL SPEC 5781       JOCHPUR       BEGLIARA       100       Open       DC       35       35       1225       32       75       Deaw of Lots       15       4         250       WITH ALL SPEC 5781       JOCHPUR       BEGLIARA       100       Open       CC       35       35       1225       0       0       Deaw of Lots       15       4         251       WITH ALL SPEC 5781       JOCHPUR       BEGLIARA       100       Open       CC       35       35       1225       0       0       Deaw of Lots       15       4         252       WITH ALL SPEC 5781       JOCHPUR       BEGLIARA       100       Open       CC       35       35       1225       0       Deaw of Lots       15       4         253       WITH ALL SPEC 5781 <t< td=""><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>		-													
Bit Decky Green And AD         Columbra         Result AN         Tool         Open         DC         As         As         Total Advances         To		BETWEEN KM STONE 17 TO 18 ON SH 2D													
International Scheme         Internati		DECHU CHERAI ROAD													
Bested Address         Constraint         Con		TOWARDS SATHIN ON SH86 C WITHIN 2KM EITHERSIDE OF VILLAGE KUMBHARA, TESHIL													
212       ENCLURAR       JODH/UR       RECULAR       100       Open       DC       35       32.2       75       Draw oftes       15       5         235       WITHIN HANGO MALO MUM, CM ANDR BODD       JODH/UR       RECULAR       100       Open       CC       30       30       30.2       12.2       12.8       Bidding       30       5         235       WITHIN HANGO MALO MULAD MALON MALO MALO MALO MALO MALO MALO MALO MALO		WITHIN 3KM EITHERSIDE OF VILL PANDIT KI DHANI ON													
244       ULBUTCHETION SHG3       JODHUR       REGULAR       100       OBC       DC       35       1225       32       75       Draw of Lots       115       4         256       BETWEEN KATONE STOR 65 TO GAD NH 113       JODHUR       REGULAR       100       Open       DC       35       35       1225       32       75       Draw of Lots       115       4         256       BETWEEN KATONE 43 TO SO NH 12       JODHUR       REGULAR       130       Open       DC       35       35       1225       0       0       Draw of Lots       115       4         257       BETWEEN KATONE 43 TO SO NH 12       JODHUR       REGULAR       150       Open       DC       35       35       1225       32       75       Draw of Lots       15       4         258       BETWEEN KATONE 470 ADAM SCA       JODHUR       REGULAR       100       OBC       DC       35       135       1225       32       75       Draw of Lots       15       4         259       BETWEEN KATONE 470 ADAM SCA       JODHUR       REGULAR       100       Open       DC       35       35       1225       32       75       Draw of Lots       15       4       36       115		BETWEEN KM STONE 74 TO 79 ON SH 63													
256       BETWEEN KNSTONE 241 O 300 ON NH 11       JODHPUR       REGUAR       150       ST       C/S       35       1225       0       0       Draw of Lots       0       3         257       BETWEEN KNSTONE 241 O 300 ON NH 12       JODHPUR       REGUAR       150       Open       DC       35       35       1225       32       95       Draw of Lots       15       4         258       BETWEEN KNSTONE 241 O 300 ON NH 12       JODHPUR       REGUAR       150       Open       DC       35       35       1225       32       95       Draw of Lots       15       5         259       BETWEEN KN STONE 27 O XON NH 12       JODHPUR       REGULAR       150       Open       DC       35       35       1225       32       95       Draw of Lots       15       5         260       WITHIN SKM BROM MARIAN CON LAVAZON NARDS       NAGAUR       REGULAR       150       Open       DC       35       35       1225       32       95       Draw of Lots       15       4         261       BITMEN SKM BROM CHART SCHUNCH       JODHPUR       REGULAR       100       Open       DC       35       35       1225       32       95       Draw of Lots       15       4 </td <td></td>															
1377       BITWEEN MA STONE 497 0 \$5 ON NH 125       JODHPUR       REGULAR       150       Open       DC       35       35       1225       322       95       Draw of Lots       15       5         258       BITWEEN MA STONE 470 CA NN 1125       JODHPUR       REGULAR       100       Open       DC       35       35       1225       322       95       Draw of Lots       15       4         259       BITWEEN MASTONE 671 CA NN 1125       JODHPUR       REGULAR       150       Dpen       DC       35       355       1225       32       95       Draw of Lots       10       3         260       WITHIN SKM FROM HARIMA TOLL PLAZA TOWARDS       NAGALUR       REGULAR       100       OBC       DC       35       35       1225       32       75       Draw of Lots       15       4         261       WITHIN SKM FERTHERDE CHERCHALA TOWARD       JODHPUR       REGULAR       100       OBC       DC       35       35       1225       32       75       Draw of Lots       15       4         262       BITWEEN KMSTONE 277 027 ON NH 11       JODHPUR       REGULAR       100       Open       DC       35       35       1225       32       95       Draw of Lots															
Diama (no. 94 + 95; KAURER): TRWARE ROAD)         JODHPUR         REGULAR         150         Open         DC         35         35         1225         32         95         Draw of Lots         0         33           269         BTYTEN KIN STORE 67 OF XAZA TOWARDS         NAGAUR         REGULAR         150         SC         CFS         35         35         1225         0         0         Draw of Lots         0         3           261         WTHIN SKM FROM HARINA TOL (PAZA TOWARDS         NAGAUR         REGULAR         100         OBC         DC         35         35         1225         32         95         Draw of Lots         15         4           261         WITHIN SKM FROM HARINA TOL (PAZA TOWARDS)         NAGAUR ON HARINA         100DHPUR         REGULAR         100         Open         DC         35         35         1225         32         95         Draw of Lots         15         5           263         BETWEEN KMSTONE 27 TO 287 ON NH 62 (OLD NH 65)         JODHPUR         REGULAR         150         SC         CFS         35         1225         32         95         Draw of Lots         15         5           264         BETWEEN KMSTONE 27 TO 287 ON NH 62 (OLD NH 65)         JODHPUR         REGULAR	257	BETWEEN KM STONE 49 TO 55 ON NH 125	JODHPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
250         WTHIN SKM FROM HARINA TOLL PLAZA TOWARDS         NAGAUR         REGULAR         150         SC         CFS         35         35         1225         0         0         Draw of Lots         0         3           261         WTHIN SKM OF EITHRSIDE OF TEHSL OFFICE LOHAWAT ON SH 61         JODHPUR         REGULAR         100         OBC         DC         35         35         1225         32         75         Draw of Lots         15         4           261         WTHIN SKM OF EITHRSIDE OF TEHSL OFFICE LOHAWAT ON SH 61         JODHPUR         REGULAR         100         Open         DC         35         35         1225         32         75         Draw of Lots         15         4           262         BETWEEN KMSTORE 262 TO 270 ON NH 11         JODHPUR         REGULAR         100         Open C 1         DC         35         35         1225         32         75         Draw of Lots         15         4           264         BETWEEN KMSTONE 35 ON KISTONE 146 ON NH 11         JAJASALMER         REGULAR         150         SC         CFS         35         35         1225         32         95         Draw of Lots         0         3           266         WTHIN 2 KMS FROM GOVERNMENT SENIOR SECONDARY SCHOOL ANSDEN SENIOR															
261       WITHIN 3KM OF ETHERSIDE OF TEHSIL OFFICE LOHAWAT ON SH 61       JODHPUR       REGULAR       100       OBC       DC       35       35       1225       32       75       Draw of Lots       15       4         262       BETWEEN KMSTONE 282 TO 270 ON NH 11       JODHPUR       REGULAR       150       Open       DC       35       35       1225       32       95       Draw of Lots       15       5         263       WTHIN 28M ETHERSIDE VILLAGE KHUDYALA ON TINWARI       JODHPUR       REGULAR       100       Open CC 1       DC       35       35       1225       32       95       Draw of Lots       15       5         264       BETWEEN KMSTONE 277 TO 287 ON NH 62 (OLD M 65)       JODHPUR       REGULAR       150       OBC       DC       35       35       1225       0       0       Draw of Lots       15       4         266       BETWEEN KMSTONE 277 TO 287 ON NH 62 (OLD M 65)       JODHPUR       REGULAR       150       SC       CFS       35       35       1225       0       0       Draw of Lots       15       5         266       BETWEEN KMSTONG COVERNMENT SENIOR SECONDARY       BIKANER       REGULAR       100       Open       DC       35       35       1225		WITHIN 5KM FROM HARIMA TOLL PLAZA TOWARDS													
1262       ETWEEN KMSTONE 262 TO 270 ON HH 11       JODHPUR       REGULAR       150       Open       DC       35       35       1225       32       95       Draw of Lots       15       5         263       WTHM XM ETHERSIDE VILLAGE KHUDIVALA ON TINWARI       JODHPUR       REGULAR       100       Open CC 1       DC       35       35       1225       32       95       Draw of Lots       15       5         263       WTHM XM ETHERSIDE VILLAGE KHUDIVALA ON TINWARI       JODHPUR       REGULAR       150       OBC       DC       35       35       1225       32       95       Draw of Lots       15       4         264       BETWEEN KMSTONE 277 TO 287 ON NH 62 (OLD NH 65)       JODHPUR       REGULAR       150       OBC       DC       35       35       1225       0       0       Draw of Lots       0       3         266       BETWEEN KMSTONE 136 TO KM STONE 146 ON NH 11       JAISALMER       REGULAR       100       Open       DC       35       35       1225       0       0       Draw of Lots       15       5         266       BETWEEN KMSTONE GOVERNMENT SENIOR SECONDARY       BIKANER       REGULAR       100       Open       DC       35       35       1225	261	WITHIN 3KM OF EITHERSIDE OF TEHSIL OFFICE LOHAWAT ON	JODHPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1263       TO BALESAR ROAD       100       Open Ct       000       035       35       125       32       75       Draw of Lots       15       5         264       BETWEEN KMSTONE 277 TO 287 ON NH 62 (OLD NH 65)       JODHPUR       REGULAR       150       OBC       DC       35       35       1225       32       95       Draw of Lots       15       4         265       BETWEEN KMSTONE 136 TO KM STONE 146 ON NH 11       JAISALMER       REGULAR       150       SC       CFS       35       35       1225       0       0       Draw of Lots       0       33         266       WITHIN 2 KMS FROM GOVERNMENT SENIOR SECONDARY SCHOOL HADDAN TOWARDS JANHOO ON SH 136       BIKANER       REGULAR       100       Open       DC       35       35       1225       32       75       Draw of Lots       15       5         267       SECONDARY SCHOOL JAISINGH DESAR MAGRA (JD MAGRA)       BIKANER       REGULAR       100       Open       DC       35       35       1225       32       75       Draw of Lots       15       5         268       BETWEEN KM STONE 38 TOK MORD MOVERNENT GRUE SENIOR       BIKANER       REGULAR       100       ST       CFS       35       35       1225       32 <td< td=""><td></td><td>BETWEEN KMSTONE 262 TO 270 ON NH 11</td><td>JODHPUR</td><td>REGULAR</td><td></td><td>Open</td><td></td><td></td><td></td><td></td><td></td><td></td><td>Draw of Lots</td><td></td><td></td></td<>		BETWEEN KMSTONE 262 TO 270 ON NH 11	JODHPUR	REGULAR		Open							Draw of Lots		
265BETWEEN KM STONE 136 TO KM STONE 146 ON NH 11JAISALMERREGULAR150SCCFS3535122500Draw of Lots03266WITHIN 2 KMS FROM GOVERNMENT SENIOR SECONDARY SCHODL ANDDA IN YMMENT SENIOR SECONDARYBIKANERREGULAR100OpenDC353512253275Draw of Lots03266WITHIN 2 KMS FROM GOVERNMENT GIRLS SENIOR SECONDARY SCHOOL JAISINGH DESAR MAGRA (JD MAGRA) TOWARDS JAALIOO ON SH 136BIKANERREGULAR100OpenDC353512253275Draw of Lots155267WITHIN 3 KMS FROM GOVERNMENT GIRLS SENIOR SECONDARY SCHOOL JAISINGH DESAR MAGRA (JD MAGRA) TOWARDS JANGLOO ON SH 87ABIKANERREGULAR100OpenDC353512253275Draw of Lots155268BETWEEN KM STONE 81 (RHS) ON NH 911 WHILE MOVING FROM BIKAMPUR TOWARDS GODUBIKANERREGULAR100OBCCC353512253212Bidding304269BETWEEN KM STONE 83 TO KM STONE 150 ON SH 136 WHILE MOVING FROM GODU TO KOLAYATBIKANERREGULAR100OpenDC3535122500Draw of Lots03270BETWEEN KM STONE 153 TO KM STONE 150 ON SH 136 WHILE MOVING FROM GODU TO KOLAYATBIKANERREGULAR100OpenDC353512253275Draw of Lots155271WITHIN 4 KMS FROM GRAM	263		JODHPUR	REGULAR	100	Open CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
LCDS       WHILE MOVING FROM JAISALMER TO POKARAN       JAISALMER       REGULAR       150       SC       CFS       35       35       1225       0       0       Draw of Lots       0       35         266       WTHILE MOVING FROM JAISALMER TO POKARAN       BIKANER       REGULAR       100       Open       DC       35       35       1225       32       75       Draw of Lots       15       5         266       WTHILE MOVING FROM JAISALMER TO POKARAN       BIKANER       REGULAR       100       Open       DC       35       35       1225       32       75       Draw of Lots       15       5         267       SECONDARY SCHOOL JAISINGH DESAR MAGRA (ID MAGRA)       BIKANER       REGULAR       100       Open       DC       35       35       1225       32       75       Draw of Lots       15       5         268       BETWEEN KM STONE 79 TO KM STONE 81 (RHS) ON NH 911       BIKANER       REGULAR       150       OBC       CC       35       35       1225       32       12       Bidding       30       4         269       BETWEEN KM STONE 38 TO KM STONE 40 ON SH 87A (OLD MDR 37) ON LHS WHILE MOVING FROM GADU TO KOLAYAT       BIKANER       REGULAR       100       Open       DC       35															
SCHOOL HADDAN TOWARDS JHAJHOO ON SH 136CC <thc< th="">CC<!--</td--><td></td><td>WHILE MOVING FROM JAISALMER TO POKARAN WITHIN 2 KMS FROM GOVERNMENT SENIOR SECONDARY</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></thc<>		WHILE MOVING FROM JAISALMER TO POKARAN WITHIN 2 KMS FROM GOVERNMENT SENIOR SECONDARY													
Image: Constraint of Constra		WITHIN 3 KMS FROM GOVERNMENT GIRLS SENIOR													
In the model from bickmardur from arbs goddInternational arbsInternational arbsInterna		TOWARDS JANGLOO ON SH 87A BETWEEN KM STONE 79 TO KM STONE 81 (RHS) ON NH 911													
270       BETWEEN KM STONE 153 TO KM STONE 150 ON SH 136 WHILE MOVING FROM AKASAR TOWARDS MOKHA       BIKANER       REGULAR       100       Open       DC       35       35       1225       32       75       Draw of Lots       15       5         271       WITHIN 4 KMS FROM GRAM PANCHAYAT OFFICE UDASAR TOWARDS PANCHU ON SH 87A (LHS)       BIKANER       REGULAR       100       Open       CC       35       35       1225       32       12       Bidding       30       5         271       FROM SOPHIA SR SECONDARY SCHOOL TO SHIVBARI CHAURAHA ON LHS VIA VYAS COLONY POLICE THANA       BIKANER       REGULAR       150       Open       CC       20       20       400       32       12       Bidding       30       5		BETWEEN KM STONE 38 TO KM STONE 40 ON SH 87A (OLD											-		
271         WITHIN 4 KMS FROM GRAM PANCHAYAT OFFICE UDASAR TOWARDS PANCHU ON SH 87A (LHS)         BIKANER         REGULAR         100         Open         CC         35         35         1225         32         12         Bidding         30         5           271         TOWARDS PANCHU ON SH 87A (LHS)         BIKANER         REGULAR         100         Open         CC         35         35         1225         32         12         Bidding         30         5           272         CHAURAHA ON LHS VIA VYAS COLONY POLICE THANA         BIKANER         REGULAR         150         Open         CC         20         20         400         32         12         Bidding         30         5	270	BETWEEN KM STONE 153 TO KM STONE 150 ON SH 136	BIKANER	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
FROM SOPHIA SR SECONDARY SCHOOL TO SHIVBARI         BIKANER         REGULAR         150         Open         CC         20         400         32         12         Bidding         30         5	271	WITHIN 4 KMS FROM GRAM PANCHAYAT OFFICE UDASAR	BIKANER	REGULAR	100	Open	сс	35	35	1225	32	12	Bidding	30	5
	272	FROM SOPHIA SR SECONDARY SCHOOL TO SHIVBARI	BIKANER	REGULAR	150	Open	сс	20	20	400	32	12	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *	-	Finance to be a appli		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC 1 SC PH ST CC 1 ST PH OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
273	WITHIN 4 KMS FROM GRAM PANCHAYAT BHAWAN (RAJIV GANDHI SEVA KENDRA)-SARUNDA TOWARDS KAKKU ON SH 87A (RHS)	BIKANER	REGULAR	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
274	BETWEEN KM STONE 10 TO KM STONE 17 ON NH 68 WHILE MOVING FROM JAISALMER TO BARMER	JAISALMER	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
275	WITHIN 6 KMS FROM GOVERNMENT SENIOR SECONDARY SCHOOL- SONOO TOWARDS RAMGARH ON NH 68	JAISALMER	REGULAR	150	Open PH	DC	35	35	1225	32	95	Draw of Lots	15	5
276	BETWEEN KM STONE 128 TO KM STONE 133 ON NH 911 WHILE MOVING FROM RANJEETPURA TOWARDS DANTORE	BIKANER	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
277	FROM SAINT N N PUBLIC SR SECONDARY SCHOOL TO PANDIT DHARAMKANTA ON MUKTA PRASAD COLONY ROAD BIKANER WML	BIKANER	REGULAR	150	Open	сс	20	20	400	32	12	Bidding	30	5
278	FROM GOVERNMENT SR. SECONDARY SCHOOL-KARMISAR TO CITY PRIMARY HEALTH CENTRE NO-6 BIKANER WML	BIKANER	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
279	BETWEEN KM STONE 479 TO KM STONE 482 ON LHS WHILE MOVING FROM RATANGARH TO BIKANER ON NH 11	BIKANER	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
280	BETWEEN KM STONE 165 TO KM STONE 167 ON SH 136 (RHS) WHILE MOVING FROM BHOLASAR TOWARDS BIKANER BETWEEN KM STONE 242 TO KM STONE 248 ON NH 62	BIKANER	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
281 282	WHILE MOVING FROM NOKHA TO BIKANER WITHIN 2 KMS FROM GADHWAL-KILCHOO PHANTA TOWARDS BIKANER ON SH 20B (RHS)	BIKANER	REGULAR	150 100	Open Open	DC DC	35 35	35 35	1225 1225	32 32	95 75	Draw of Lots Draw of Lots	15	5 5
283	BETWEEN SHIVBARI CHAURAHA AND CAMEL ANUSANDHAN KENDRA(ICAR) ON SHIVBARI ROAD - BIKANER WML	BIKANER	REGULAR	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
284	WITHIN 2 KM FROM BADRASAR TOWARDS BIKANER ON SH 3 (LHS)	BIKANER	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
285	WITHIN 2 KMS FROM PANCHAYAT SAMITI OFICE - KHAJUWALA TOWARDS DANTORE WML KHAJUWALA (LHS)	BIKANER	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
286	BETWEEN KM STONE 499 TO KM STONE 504 (RHS) ON NH 11 WHILE MOVING FROM SRIDUNGARGARH TO BIKANER	BIKANER	REGULAR	150	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
287	BETWEEN KM STONE 0 TO 8 ON NH 62 (BIKANER BYPASS) CONNECTING JAIPUR ROAD WITH SRI GANGANAGAR ROAD	BIKANER	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
288	WML SRIDUNGARGARH ON SH 93 BETWEEN CIRCUIT HOUSE AND RRVPN 400 KV GSS ON	BIKANER	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
289 290	JAIPUR ROAD WML BIKANER WITHIN 4 KMS FROM HALDIRAM KI PIYAU TOWARDS	BIKANER	REGULAR	150 150	Open Open	сс сс	30 30	30 30	900 900	32	12	Bidding	30 30	5
	NAPASAR ON SAGAR ROAD WML BIKANER FROM BHIMSEN CHOUDHARY CIRCLE (URMUL CIRCLE) TO											-		
	GOVT. MAHARANI SUDARSHANA GIRLS COLLEGE ON JAISALMER ROAD- BIKANER WML	BIKANER	REGULAR	150	OBC	CC	30	30	900	32	12	Bidding	30	4
292 293	ON ANY MAIN ROAD BIKANER WML WITHIN 4 KMS FROM BHANIYANA CHAURAHA TOWARDS	BIKANER JAISALMER	REGULAR	150 100	SC Open	CFS DC	30 35	30 35	900 1225	0	0 75	Draw of Lots Draw of Lots	0	3
294	PHALSOOND ON SH 40 BETWEEN KM STONE 190 TO KM STONE 192 (RHS) ON NH 11 WHILE MOVING FROM JAISALMER TO POKARAN	JAISALMER	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
295	WITHIN 4 KMS FROM AADSAR TOWARDS SRIDUNGARGARH ON SH 93	BIKANER	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
296	WITHIN 3 KMS FROM SHREE RAJPUT GUEST HOUSE(VISHRAM GRIHA SANSTHAN) KOLAYAT TOWARDS JHAJOO ON SH 87 A	BIKANER	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
297	BETWEEN KM STONE 180 TO KM STONE 214 ON NH 70 WHILE MOVING FROM MUNABO TO TANOT BETWEEN SHAHEED JAISINGH CHAURAHA (UNION CIRCLE	JAISALMER	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
298	DEI WEEN SHAREED JAISINGH CHAURAHA (UNION CIRCLE )TO RRVPN 132 KV GSS ON JODHPUR LINK ROAD WML JAISALMER BETWEEN SHAHEED JAISINGH CHAURAHA (UNION CIRCLE)	JAISALMER	REGULAR	100	Open	сс	30	30	900	32	12	Bidding	30	5
299	BEI WEEN SHAHEED JAISINGH CHAURAHA (UNION CIRCLE) TO JOSHILA PHANTA ON WML JAISALMER WITHIN 3 KMS FROM LOHARKI (LHS) TOWARDS NACHANA	JAISALMER	REGULAR	100	OBC	СС	30	30	900	32	12	Bidding	30	4
300	WITHIN 3 KMS FROM LOHARKI (LHS) TOWARDS NACHANA ON SH 40 WITHIN 2 KMS FROM GOVERNMENT PRIMARY SCHOOL -	JAISALMER	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
301	MOOLSAGAR TOWARDS VIJAY STAMBH CIRCLE (RHS) WIL JAISALMER BETWEEN KM STONE 207 TO KM STONE 212 WHILE MOVING	JAISALMER	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
302	FROM GHARSANA TO SATTASAR ON NH 911	BIKANER	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
303	WITHIN 2 KMS FROM 2 PTM CHAURAHA TOWARDS SULTANA ON NH 968	JAISALMER	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
304 305	VILLAGE SERWA, TEHSIL SERWA ON NH-925 BETWEEN KM STONE 112 - 118 ON NH-325 ON AHORE - SANDERAO ROAD	JALORE	REGULAR	150 150	Open ST	DC CFS	35 35	35 35	1225 1225	32 0	95 0	Draw of Lots Draw of Lots	15 0	5
306	BETWEEN KM STONE 200 TO 205 ON SH-28 BALOTRA - SINDHARI ROAD	BARMER	REGULAR	100	OBC	сс	35	35	1225	32	12	Bidding	30	4
307	ON NH-25, BETWEEN KM STONE 73 TO 83 ON BARMER - JODHPUR ROAD	BARMER	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
308	WITHIN MUNICIPAL LIMITS OF BARMER CITY ON ANY ROAD	BARMER	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensic of the site M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
309	ON SH-65, BETWEEN KM STONE 8 TO 13 ON SHIV - FALSUND ROAD	BARMER	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
310	NOAD VILLAGE BARMER MAGRA, TEHSIL BARMER RURAL ON NEW BARMER RING ROAD (BETWEEN MEDICAL COLLEGE AND NH- 25 BARMER UTARLAI ROAD)	BARMER	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
311	VILLAGE BARMER AGORE, TEHSIL BARMER ON NEW BARMER RING ROAD (BETWEEN INTERSECTION WITH NH-68 BARMER SANCHORE AND NH-25 BARMER UTARLAI ROAD)	BARMER	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
312	BETWEEN KM STONE 104 - 109 ON SH-16 SINDHARI SAYLA ROAD	JALORE	REGULAR	100	Open CC 1	CC	35	35	1225	32	12	Bidding	30	5
313	ON NH-325, BETWEEN KM STONE 0 - 5 ON BALOTRA - PACHPADRA ROAD	BARMER	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
314	ON SH-16B, IN VILLAGE POSANA, TEHSIL SAYLA FROM INTERSECTION OF SH-31A AND SH-16B TOWARDS SAYLA	JALORE	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
315	WITHIN MUNICIPAL LIMITS OF JALORE CITY ON ANY ROAD	JALORE	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
316	BETWEEN KM STONE 143 - 150 ON TOWARDS JAISALMER ON NH-68 BARMER - JAISALMER ROAD (WITHIN MUNICIPAL LIMITS OF BARMER)	BARMER	REGULAR	150	Open	DC	30	30	900	32	95	Draw of Lots	15	5
317	ON SH-28A, BETWEEN KM STONE 10 TO 13 ON BALOTRA - BAGUNDI ROAD	BARMER	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
318	BETWEEN KM STONE 44 - 47 ON SH-64 ON AHORE - ROHAT ROAD	JALORE	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
319	BETWEEN KM STONE 41 - 48 ON SH-31 JALORE - BHINMAL ROAD	JALORE	REGULAR	100	Open	СС	35	35	1225	32	12	Bidding	30	5
320	ON SH-28, BETWEEN KM STONE 150 TO 155 ON PACHPADRA THOB ROAD	BARMER	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
321	VILLAGE MANDAPURA, TEHSIL PACHPADRA ON NH-25 BARMER JODHPUR ROAD	BARMER	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
322	ON SH-28, BETWEEN KM STONE 138 TO 145 ON PACHPADRA - THOB ROAD MEGA HIGHWAY	BARMER	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
323	NNH-325, KM STONE 49 TO 60 ON MOKALSAR - SIWANA ROAD	BARMER	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
324	ON NH-25, BETWEEN KM STONE 10 TO 20 ON BARMER - JODHPUR ROAD	BARMER	REGULAR	150	Open CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
325	ON NH-325, BETWEEN KM STONE 78 - 88 ON JALORE - SIWANA ROAD	JALORE	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
326	WITHIN MUNICIPAL LIMITS OF BALOTRA CITY ON ANY ROAD	BARMER	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
327	ON SH-11, BETWEEN KM STONE 7 TO 11 ON SANCHORE RANIWARA ROAD	JALORE	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
328	ON NH-325, BETWEEN KM STONE 17-21 ON BALOTRA - SIWANA ROAD TOWARDS SIWANA	BARMER	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
329	WITHIN 2 KM FROM ST. PAUL SCHOOL BARMER ON BARMER - SHIVKAR ROAD (WITHIN MUNICIPAL LIMITS OF BARMER)	BARMER	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
330	ON SH-16B, WITHIN 7 KM FROM INTERSECTION OF SH-16B WITH SH-16 TOWARDS POSANA ON SAYLA - POSANA ROAD	JALORE	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
331	WITHIN 2 KM FROM VILLAGE BIBALSAR ON SH-31 JALORE - RAMSIN ROAD	JALORE	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
332	ON NH-25E, BETWEEN KM STONE 21 TO 25 ON BARMER - MUNABAO ROAD	BARMER	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
333	VILLAGE NARSANA, TEHSIL BAGODA ON BAGODA - BHINMAL ROAD SH-16A	JALORE	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
334	VILLAGE JAJUSAN, TEHSIL SANCHORE ON SH-11 SANCHORE - RANIWARA ROAD	JALORE	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
335	VILLAGE SINDHIYON KI DHANI, TEHSIL PACHPADRA ON NH- 25 BARMER JODHPUR ROAD ON NH-325, KM STONE 64 TO 69 ON MOKALSAR -	BARMER	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
336	BISHANGARH ROAD BETWEEN KM STONE 141 - 148 ON SH-16 SAYLA -	BARMER	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
337	BETWEEN KM STONE 141 - 148 ON SH-16 SAYLA - BISHANGARH ROAD ON SH-11, BETWEEN KM STONE 13 TO 16 ON SANCHORE	JALORE	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
338	RANIWARA ROAD	JALORE	REGULAR	100	Open CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
339	BETWEEN KM STONE 103 - 108 ON LHS TOWARDS JODHPUR ON NH-25 PACHPADRA - JODHPUR ROAD BETWEEN KM STONE 108 - 114 ON BOTH SIDES ON NH-25	BARMER	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
340	BETWEEN KM STONE 108 - 114 ON BOTH SIDES ON NH-25 PACHPADRA - JODHPUR ROAD ON NH-68, BETWEEN KM STONE 102 - 107 ON SHIV -	BARMER	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
341	BARMER ROAD BETWEEN KM STONE 27 - 35 ON SH-31A ON BHINMAL -	BARMER	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
342	POSANA ROAD BETWEEN RAJOOWAS AND RAMSIYA ON NAGAUR RING	JALORE	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
343	BEI WEEN RAJOOWAS AND RAMSIYA ON NAGAUR RING ROAD WITHIN 3KM EITHERSIDE OF Village Malhar on Phalodi	NAGAUR	REGULAR	100	OBC	DC	35	35	1225	32	55	Draw of Lots	15	4
344 345	Bikaner ROAD NH11 Village Paddukalan on NH 58	JODHPUR	REGULAR	150 150	Open ST	DC CFS	35 35	35	1225 1225	32	95	Draw of Lots Draw of Lots	15 0	5
345	BETWEEN VILLAGE AGOLAI AND VILL DOODINAGAR	JODHPUR	REGULAR	100	Open	CC	35	35	1225	32	12	Bidding	30	5
347	TOWARDS KALYANPUR ON AGOLAI KALYANPUR ROAD BETWEEN PANCHAYAT SAMITI PARBATSAR AND POLICE STATION PARBATSAR ON KISHANGARH ROAD	NAGAUR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
348	BETWEEN KMSTONE 235 TO 242 ON NH 62 (OLD NH 65) WHILE MOVING FROM NAGAUR TO JODHPUR	JODHPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
L			ı	1	l	ı	ı	1	1	I	l	1	1	

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC CC 1 OBC CC 1 OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
349	VILL BERATHAL KALAN ON BERATHAL KALAN KHIMSAR ROAD	NAGAUR	REGULAR	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
350	FROM BUDSU CHAURAH TOWARDS PANWARI 4KM ON SH-7	NAGAUR	REGULAR	100	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
351	BETWEEN KM STONE 148 TO 150 ON NAGAUR LADNU ROAD (NH 58)	NAGAUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
352	WITHIN NAWA WML ON MAJOR ROAD Within 2 KM From Welcome Cineplex, Makrana Towards	NAGAUR	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
353	Borawar	NAGAUR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
354 355	BETWEEN KM STONE 88 TO 89 ON SH 63 VILL BHAWANDA ON BHAWANDA MANAKPUR ROAD	NAGAUR NAGAUR	REGULAR	100 100	SC Open	CFS DC	35 35	35 35	1225 1225	0 32	0 75	Draw of Lots Draw of Lots	0	3
356	VILL PARBATSAR ON PARBATSAR-BIDIYAD ROAD (SH 2D)	NAGAUR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
357	WITHIN 3KM FROM HOTEL DARA PALACE TOWARDS DANGAVAS ON MERTA BYPASS ROAD	NAGAUR	REGULAR	100	OBC	DC	35	35	1225	32	55	Draw of Lots	15	4
358	Vill. Kalwa on Khatu Khurd-Mangalana Road (SH-2B)	NAGAUR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
359	BETWEEN POLICE STATION MERTA CITY AND SHAHEED SMARAK ON REN ROAD	NAGAUR	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
360	Within 5 Km from Ambuja Cement Plant. Mumdwa towards Athiyasan on NH-58	NAGAUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
361	ON Ren New Bypass Road NH 58	NAGAUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
362	WITHIN 5KM FROM VILL KALRU TOWARDS VILL LAMBA JATAN ON GOTAN MERTA ROAD	NAGAUR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
363	BETWEEN KM STONE 45 AND 47 ON MANGLANA- KISHANGARH ROAD (SH 7)	NAGAUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
364	WITHIN 5 km from village Koliya towards nagaur ON NH 458	NAGAUR	REGULAR	150	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
365	BETWEEN VILL BYADPHATA AND VILLAGE INDAWAR ON SH 21	NAGAUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
366 367	BETWEEN KM STONE 200 AND 203 ON NH 62 BETWEEN KM Stone 183 to 186 ON SH 90	NAGAUR NAGAUR	REGULAR REGULAR	150 100	Open ST	DC CFS	35 35	35 35	1225 1225	32 0	95 0	Draw of Lots Draw of Lots	15 0	5
368	WITHIN 3 KM ON EITHERSIDE OF RTO OFFICE Nagaur ON	NAGAUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	GOGELAW NAWABAS ROAD VILLAGE CHHOTA LAMBA ON SH-7E	AJMER	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
370	DEOLI ON OLD KEKRI ROAD	TONK	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
371 372	BETWEEN KM STONE 21 TO 24 ON SH-117 DADIYA TO TIHARI ON SH-101	TONK AJMER	REGULAR	100 100	Open SC CC 1	DC CFS	35 35	45 35	1575 1225	32 0	75	Draw of Lots Draw of Lots	15 0	5
373	WML RAMGANJMANDI	KOTA	REGULAR	100	OBC CC 1	DC	35	35	1225	32	55	Draw of Lots	15	4
374 375	BETWEEN KM STONE 10 TO 12 ON SH-7 BETWEEN KM STONE 87 TO 90 ON SH-1, KOTA LALSHOT	AJMER SAWAI MADHOPUR	REGULAR	100	Open Open PH	DC CC	35	45 45	1575 1575	32	75	Draw of Lots Bidding	15 30	5
	HIGHWAY KEKRI BYEPASS ON SH-12	AJMER	REGULAR	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
377	WITHIN 10 KM FROM KISHANGARH TOLL GATE TOWARDS JAIPUR ON NH-48 WHILE GOING AJMER TO JAIPUR RIGHT HAND SIDE (WITHIN AJMER DISTRICT LIMITS)	AJMER	REGULAR	150	OBC	сс	35	45	1575	32	12	Bidding	30	4
378	WITHIN 3 KM FROM JUNCTION NH-448 ( OLD NH-8) AND SH- 7 TOWARDS ROOPANGARH ON SH-7	AJMER	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
379	ON NH-58 VILLAGE HOKARA TO VILLAGE KANAS(WITHIN AJMER DISTRICT LIMITS )	AJMER	REGULAR	150	OBC	сс	35	45	1575	32	12	Bidding	30	4
380	BETWEEN MAYAMANDIR CINEMA AND RTO AJMER ON JAIPUR ROAD, LHS WHILE MOVING FROM AJMER TO JAIPUR	AJMER	REGULAR	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
381	WITHIN 3 KM FROM RAJKIYA UCHCH MADHYMIK VIDYALAYA SEEL ON SH-101	AJMER	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
382	AJMER CITY ON FOYSAGAR ROAD WITHIN MUNICIPAL LIMITS OF AJMER CITY (NOT ON HIGHWAY)	AJMER	REGULAR	150	Open	DC	30	30	900	32	75	Draw of Lots	15	5
383	BETWEEN KM STONE 292 TO 296 ON NH-48 (OLD NH-79) WHILE GOING KISHANGARH TO BHILWARA RIGHT HAND SIDE WITHIN 4 KM FROM TODARAISINGH BUS STAND TOWARDS	AJMER	REGULAR	150	Open	сс	35	45	1575	32	12	Bidding	30	5
384	MALPURA ON SH-37A	TONK	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
385	Within 5 KM from intersection of NH-27 and SH-1 on LHS towards Kota along NH-27	BARAN	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
386	WITHIN 5 KM FROM NEW BUS STAND MASUDA TOWARDS BANDANWARA ON SH-26A	AJMER	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
387	KOTA WML WITHIN 3 KM OF KESHORAIPATAN TIRAHA TOWARDS KAPREN	KOTA	REGULAR	150	Open CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
388	WITHIN 2 KM FROM BAGHERA CHOURAYA TOWARDS NAYAKI ON SH-12	AJMER	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
389	Between KM Stone 20 to 22 on SH-37A (Siswali-Baran Road)	BARAN	REGULAR	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
390	WITHIN 5 KM FROM JUNCTION NH-58 AND NH-158 ON NH- 158 ( WITHIN AJMER DISTRICT LIMIT)	AJMER	REGULAR	150	Open	сс	35	45	1575	32	12	Bidding	30	5
391	BETWEEN KM STONE 313 TO 315 ON NH-48 WHILE GOING FROM KISHANGARH TO BHILWARA LHS	AJMER	REGULAR	150	OBC	сс	35	45	1575	32	12	Bidding	30	4
392	VILLAGE NARWAR TO VILLAGE ARDAKA ON SH-100	AJMER	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
393 394	VILLAGE BABAICHA TO VILLAGE KUCHEEL ON SH-100 Between Rooparel and Mandawar on SH-89	AJMER JHALAWAR	REGULAR	100	Open ST	DC CFS	35	35 45	1225 1575	32	75	Draw of Lots Draw of Lots	15 0	5
395	ON NH-448, RHS FROM GEGAL TOLL GATE TO AAKASHVANI KENDRA	AJMER	REGULAR	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
396	WITHIN 10 KM FROM KISHANGARH TOLL GATE TOWARDS JAIPUR ON NH-48 WHILE GOING AJMER TO JAIPUR LEFT HAND SIDE (WITHIN AJMER DISTRICT LIMITS)	AJMER	REGULAR	150	Open	сс	35	45	1575	32	12	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OBC CC 1 OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
397	BETWEEN KM STONE 156 TO 159 ON NH-52 (OLD NH-12) WHILE GOING DEOLI TO TONK LHS	TONK	REGULAR	150	Open	CC	35	45	1575	32	12	Bidding	30	5
398	WITHIN 3 KM OF GANESHGANJ TIRAHA ON SH 1 5 KM FROM BHUSAWAR BUS STAND ON SH45 TOWARDS	KOTA	REGULAR	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
399 400	WEIR WITHIN 3 KM OF KM STONE 59 ON SH-101 (WITHIN AJMER	BHARATPUR	REGULAR	100	OBC Open	DC DC	35	45 45	1575 1575	32	75	Draw of Lots Draw of Lots	15	4
401	DISTRICT LIMIT) WITHIN 3 KM FROM GOVINDGARH BUS STAND TOWARDS ALNIYAWASH (GOVINDGARH TO ALNIYAWASH ROAD)	AJMER	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
402	Within Municiple Limit OF BHUSAWAR(NOT ON HIGHWAY)	BHARATPUR	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
403	BETWEEN AERODROME AND GOBAWARIYA BAWDI CIRCLE ON LHS KOTA TO JHALAWAR ROAD	KOTA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
404	WITHIN 2 KM FROM JUNCTION NH-448 AND NH-58 TOWARDS PUSKAR ON NH-58 WHILE GOING KAYAD TO	AJMER	REGULAR	150	Open	сс	35	45	1575	32	12	Bidding	30	5
405	PUSHKAR LHS VILLAGE KEETAP TO VILLAGE TANTOTI ON SH-26A	AJMER	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
406	NH 27 BETWEEN KM STONE 1026 AND 1032, RHS FROM BARAN TO UDAIPUR	BUNDI	REGULAR	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
407	NH 52 BETWEEN KM STONE 308 AND 321, RHS FROM KOTA TO JHALAWAR	KOTA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
408	BETWEEN KM STONE 65 TO 67 ON SH-101 WHILE GOING AJMER TO MALPURA RHS	TONK	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
409	BETWEEN KM STONE 291 TO 298 ON NH-48 (OLD NH-79) WHILE GOING KISHANGARH TO BHILWARA LEFT HAND SIDE	AJMER	REGULAR	150	Open	сс	35	45	1575	32	12	Bidding	30	5
410	WITHIN 4 KM FROM RAIPURA CIRCLE TO KAITHUN ROAD SH 51	KOTA	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
411	BETWEEN KM STONE 43 TO 47 ON SH-117 BETWEEN KM STONE 76 TO 81 ON OLD NH11B (NEW NH23)	TONK	REGULAR	100	Open SC	DC CFS	35	45 45	1575 1575	32	75	Draw of Lots Draw of Lots	15	5
412	WML KAPREN	BUNDI	REGULAR	100	OBC	DC	35	35	1225	32	55	Draw of Lots	15	4
414	With 10 KM from MP Border towards Manoharthana towards SH-37A	JHALAWAR	REGULAR	100	Open CC 1	сс	35	45	1575	32	12	Bidding	30	5
415	Between KM Stone 153 to 156 on NH-23 (Old NH-11B) Dhaulpur to Karauli Highway	DHOLPUR	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
416	NH 52 BETWEEN KM STONE 223 AND 229, RHS FROM JAIPUR TO KOTA	BUNDI	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
417	NH 52 BETWEEN KM STONE 218 AND 221, LHS FROM JAIPUR TO KOTA Within 3 KM from Intersection of NH-52 and SH-19A towards	BUNDI	REGULAR	150	OBC	СС	35	45	1575	32	12	Bidding	30	4
418	Kota on NH-52 Between KM Stone 335 and 345 on NH-52 on LHS towards	JHALAWAR	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
419 420	Kota BETWEEN KM STONE 38 TO 43 ON NH 552	JHALAWAR TONK	REGULAR	150 150	Open SC	DC CFS	35 35	45 45	1575 1575	32	95	Draw of Lots Draw of Lots	15	5
421	BETWEEN KM STONE 173 TO 175 ON SH 1 FROM ITAWA TO GENTA	KOTA	REGULAR	100	OBC	СС	35	35	1225	32	12	Bidding	30	4
422	Within 2 KM from Intersection of SH-19A and SH-126 towards Mandvi on SH-126	JHALAWAR	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
423	Between Km Stone 1171 to 1173 on NH-27, LHS From Kota to Shivpuri	BARAN	REGULAR	150	Open CC 2	СС	35	45	1575	32	12	Bidding	30	5
424	Within 2 KM from Mahatma Gandhi Government School Thikriya on Harnawda Shahji-Manoharthana Road	JHALAWAR	REGULAR	100	OBC CC 1	CC	35	45	1575	32	12	Bidding	30	4
425	BETWEEN KM STONE 348 TO 360 ON OLD NH-8 (NEW NH-48)	AJMER	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
426	Between KM Stone 1205 to 1207 on NH-27 Kota-Shivpuri Road	BARAN	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
427	Within 2 KM from Arniya Uchcha Madhyamik Vidyalaya towards Barana on SH-72 (Barana-Jalwara-Nahargarh Road)	BARAN	REGULAR	100	Open	сс	35	45	1575	32	12	Bidding	30	5
428	SH 29 KHATGARH TO LAKHERI BETWEEN KM STONE 76 AND 80	BUNDI	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
429	WITHIN 5 KM FROM JUNCTION SH-101 AND SH-7E TOWARDS SRINAGAR ON SH-101 Within 2 KM from Margarithe Bus Stand towards Bases on	AJMER	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
430	Within 3 KM from Mermachah Bus Stand towards Baran on NH-752 (Old NH-90) (Baran-Atru Road)	BARAN	REGULAR	150	Open	СС	35	45	1575	32	12	Bidding	30	5
431	Between KM Stone 1117 to 1119 on NH-27, LHS while going from Baran to Kota	BARAN	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
432 433	Between KM Stone 1150 and 1153 on NH-27 Between KM Stone 13 to 15 on SH-19C (Aalot to Suwasara via	BARAN JHALAWAR	REGULAR REGULAR	150 100	OBC Open	DC DC	35 35	45 45	1575 1575	32 32	95 75	Draw of Lots Draw of Lots	15 15	4
433	Gangadhar) WML KOTA ON SH 33 BETWEEN DADABARI TO NH 27	KOTA	REGULAR	100	ST	CFS	35	45 35	1225	0	0	Draw of Lots Draw of Lots	0	3
435	Between KM Stone 1231 to 1233 on NH-27 Kota-Shivpuri Road	BARAN	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
436	NH 27 BETWEEN KM STONE 1033 AND 1040, RHS FROM BARAN TO Udaipur	BUNDI	REGULAR	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
437	Within 3 KM of Ladaniya Toll Plaza towards Golana on SH-1	JHALAWAR	REGULAR	100	Open CC 1	DC	35	45	1575	32	75	Draw of Lots	15	5
438	NH 52 BETWEEN KM STONE 309 AND 322, LHS FROM KOTA TO JHALAWAR	КОТА	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
439	WITHIN 5 KM FROM JUNCTION SH-26 AND SH-7E TOWARDS BORADA ON SH-7E	AJMER	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
440	Within 2 KM from Tehsil Office Atru towards Ratanpura on Atru-Ratanpura Road via Railway Underpass No. 54C	BARAN	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5

441         Bar           (Ak         BET           (Ak         BET           442         DIST           443         BET           444         BET           444         BET           444         BET           445         Bet           446         IA           447         ON           BH         SH           448         SH           449         Witt	2 thin 5 KM from Rajkiya Uchcha Prathamik Vidyalaya rdawda towards Chhipabarod on NH-752 (Old NH-90) klera-Chhipabarod Road) TWEEN KM STONE 104 TO 108 ON SH-12 (WITHIN AJMER STRICT LIMITS) TWEEN KM STONE 93 TO 95 INDERGARH TO WAIMADHOPUR ON SH 1 tween KM STONE 93 TO 95 INDERGARH TO WAIMADHOPUR ON SH 1 tween KM Stone 359 to 361 on NH-52 (Kota-Bhopal ahway) tween KM Stone 91 and 93 on SH-19A (Bhawani Mandi- ig Road) KM ON SH 45 FROM WEIR TOWARD INSTERSECTION ON SH AT BHIM NAGAR TIRAHA N NH-48, RHS FROM KHEDI TOLL GATE TOWARDS ILWARA WITHIN AJMER DISTRICT LIMIT 1 GANESHGANJ TIRAHA TO ITAWA BETWEEN KM STONE	3 BARAN AJMER BUNDI JHALAWAR JHALAWAR	4 Regular / Rural REGULAR REGULAR	5 MS+HSD in KIs 150	6 SC CC1 SC CC1 ST CC1 ST PH OBC OBC CC1 OBC PH OPEN CC1 OPEN CC2 OPEN CC2	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	10 Draw of Lots / Bidding	11	12
441         Bar           (Ak         BET           (Ak         BET           442         DIST           443         BET           444         BET           444         BET           444         BET           445         Bet           446         IA           447         ON           BH         SH           448         SH           449         Witt	rdawda towards Chhipabarod on NH-752 (Old NH-90) klera-Chhipabarod Road) TWEEN KM STONE 104 TO 108 ON SH-12 ( WITHIN AJMER STRICT LIMITS) TWEEN KM STONE 93 TO 95 INDERGARH TO WAIMADHOPUR ON SH 1 tween KM Stone 359 to 361 on NH-52 (Kota-Bhopal ahway) tween KM Stone 91 and 93 on SH-19A (Bhawani Mandi- ig Road) (M ON SH 45 FROM WEIR TOWARD INSTERSECTION ON SH <u>T BHIM NAGAR TIRAHA</u> N HH-48, RHS FROM KHEDI TOLL GATE TOWARDS ilLWARA WITHIN AJMER DISTRICT LIMIT I GANESHGANI TIRAHA TO ITAWA BETWEEN KM STONE	AJMER BUNDI JHALAWAR JHALAWAR	Rural REGULAR REGULAR REGULAR	<b>Kis</b> 150	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CFS	Frontage	Depth	Area	working capital requirement for	required for development of infrastructure			
441         Bar           (Ak         BET           (Ak         BET           442         DIST           443         BET           444         BET           444         BET           444         BET           445         Bet           446         IA           447         ON           BH         SH           448         SH           449         Witt	rdawda towards Chhipabarod on NH-752 (Old NH-90) klera-Chhipabarod Road) TWEEN KM STONE 104 TO 108 ON SH-12 ( WITHIN AJMER STRICT LIMITS) TWEEN KM STONE 93 TO 95 INDERGARH TO WAIMADHOPUR ON SH 1 tween KM Stone 359 to 361 on NH-52 (Kota-Bhopal ahway) tween KM Stone 91 and 93 on SH-19A (Bhawani Mandi- ig Road) (M ON SH 45 FROM WEIR TOWARD INSTERSECTION ON SH <u>T BHIM NAGAR TIRAHA</u> N HH-48, RHS FROM KHEDI TOLL GATE TOWARDS ilLWARA WITHIN AJMER DISTRICT LIMIT I GANESHGANI TIRAHA TO ITAWA BETWEEN KM STONE	AJMER BUNDI JHALAWAR JHALAWAR	REGULAR REGULAR		Open	СС								
442         DIS           443         BET           444         Bet           444         Bet           444         Bet           445         Bet           446         SK           446         SK           446         SK           446         SK           448         SH           449         Wit           BET         SH	STRICT LIMITS) TWEEN KM STONE 93 TO 95 INDERGARH TO WAIMADHOPUR ON SH 1 tween KM Stone 359 to 361 on NH-52 (Kota-Bhopal ahway) tween KM Stone 91 and 93 on SH-19A (Bhawani Mandi- ig Road) (M ON SH 45 FROM WEIR TOWARD INSTERSECTION ON SH <u>T BHIM NAGAR TIRAHA</u> N HH-48, RHS FROM KHEDI TOLL GATE TOWARDS IILWARA WITHIN AJMER DISTRICT LIMIT I GANESHGANI TIRAHA TO ITAWA BETWEEN KM STONE	BUNDI JHALAWAR JHALAWAR	REGULAR	100			35	45	1575	32	12	Bidding	30	5
443         SAV           444         Bet           445         Bet           445         Bet           446         5 K           446         1 A           447         ON           844         167           448         SH           449         Witt	WAIMADHOPUR ON SH 1 tween KM Stone 359 to 361 on NH-52 (Kota-Bhopal ahway) tween KM Stone 91 and 93 on SH-19A (Bhawani Mandi- Ig Road) KM ON SH 45 FROM WEIR TOWARD INSTERSECTION ON SH AT BHIM NAGAR TIRAHA IN H-48, RHS FROM KHEDI TOLL GATE TOWARDS ILWARA WITHIN AJMER DISTRICT LIMIT I GANESHGANI TIRAHA TO ITAWA BETWEEN KM STONE	JHALAWAR			OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
444         Hic           445         Bet           446         5 K           446         5 K           447         ON           447         BH           448         SH           167         449           449         With	ahwav) tween KN Stone 91 and 93 on SH-19A (Bhawani Mandi- ig Road) KM ON SH 45 FROM WEIR TOWARD INSTERSECTION ON SH AT BHIM NAGAR TIRAHA N NH-48, RHS FROM KHEDI TOLL GATE TOWARDS ILWARA WITHIN AJMER DISTRICT LIMIT I GANESHGANJ TIRAHA TO ITAWA BETWEEN KM STONE	JHALAWAR		100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
443         Du           446         5 K           447         0N           447         0N           8H         167           448         SH           449         With	I <u>II Road)</u> (M ON SH 45 FROM WEIR TOWARD INSTERSECTION ON SH I <u>SHIM NAGAR TIRAHA</u> I NH-48, RHS FROM KHEDI TOLL GATE TOWARDS IILWARA WITHIN AJMER DISTRICT LIMIT I GANESHGANI TIRAHA TO ITAWA BETWEEN KM STONE		REGULAR	150	Open	CC	35	45	1575	32	12	Bidding	30	5
446 1 A ON BH 447 448 SH 167 449 Wit	AT BHIM NAGAR TIRAHA V NH-48, RHS FROM KHEDI TOLL GATE TOWARDS IILWARA WITHIN AJMER DISTRICT LIMIT I GANESHGANJ TIRAHA TO ITAWA BETWEEN KM STONE		REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
447 BHI 448 167 449 Wit	ILWARA WITHIN AJMER DISTRICT LIMIT 1 GANESHGANJ TIRAHA TO ITAWA BETWEEN KM STONE	BHARATPUR	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
448 167 449 Wit		AJMER	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
RET	7 TO 170	KOTA	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
007	thin Municipal limit of Kota in RIICO Industrial area	KOTA	REGULAR	150	Open	DC	18	20	360	32	75	Draw of Lots	15	5
	TWEEN KM STONE 86 TO 90 ON SH-26 (WITHIN AJMER STRICT LIMITS)	AJMER	REGULAR	100	OBC PH	DC	35	45	1575	32	75	Draw of Lots	15	4
451 Jha	alrapatan Within Municipal Limits (Not on highway)	JHALAWAR	REGULAR	100	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
	33 KOTA TO LAKHERI BETWEEN KM STONE 154 TO 160	BUNDI	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
	29 (BUNDI TO BIJOLIA) BETWEEN KM STONE 112 TO 116 TWEEN KM STONE 56 TO 61 ON NH52	BUNDI TONK	REGULAR	100 150	Open OBC	DC DC	35 35	45 45	1575 1575	32 32	75 95	Draw of Lots Draw of Lots	15 15	5
455 WN	ML INDERGARH	BUNDI	REGULAR	100	Open	DC	35	35	1225	32	55	Draw of Lots	15	5
450 CH	KM FROM BHUSAWAR BUS STAND ON SH45 TOWARDS IHOKARWARA	BHARATPUR	REGULAR	100	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
457	H 52 BETWEEN KM STONE 228 TO 232, LHS FROM JAIPUR D KOTA	BUNDI	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
	TWEEN KM STONE 24 TO 27 ON SH1	SAWAI MADHOPUR	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
	29 (BUNDI TO BIJOLIA) BETWEEN KM STONE 125 TO 130	BUNDI DHOLPUR	REGULAR REGULAR	100 100	Open SC	DC CFS	35 30	35 30	1225 900	32 0	75 0	Draw of Lots	15 0	5
	thin Municiple Limit OF BASERI(NOT ON HIGHWAY) tween KM Stone 70 & 75 on SH-1 Jhalawar-Khanpur Road	JHALAWAR	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots Draw of Lots	15	4
	29B VILLAGE SEELOR	BUNDI	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
463	ITHIN 3 KM OF BAYANA MOD, NOT ON HIGHWAY, TEHSIL SERI	DHOLPUR	REGULAR	100	Open CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
464 WI	THIN 3 KM FROM JUNCTION SH-117 AND SH-12 WARDS PHAGI ON SH-12	TONK	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
NH	THIN 5 KM FROM BARI GOVT. HOSPITAL ON SH 42 1 52 BETWEEN KM STONE 325 AND 328, LHS FROM KOTA	DHOLPUR	REGULAR	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
466 TO	D JHALAWAR NH 148D, Between KM Stone 211 and KM Stone 218	KOTA BUNDI	REGULAR	100 150	Open Open	CC CC	35 35	45 45	1575 1575	32 32	12 12	Bidding Bidding	30 30	5
AG9 BET	TWEEN KM STONE 13 TO 15 ON SH-116 JHIRANA -	TONK	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
469 WI	THIN MUNICIPAL LIMIT OF BHARATPUR (NOT ON	BHARATPUR	REGULAR	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
470 PU	NICINAL FIGHWAT) NK WITHIN MUNICIPAL LIMITS, WITHIN 2 KMS FROM MP HOUSE DHOLAKHERA ON SORAN ROAD (NOT ON GHWAY)	TONK	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
471 Bet	tween KM Stone 62 TO 65 on NH 552	SAWAI MADHOPUR	REGULAR	150	Open	CC	35	45	1575	32	12	Bidding	30	5
472 (NO	NK WITHIN MUNICIPAL LIMITS, RIICO INDUSTRIAL AREA OT ON HIGHWAY)	TONK	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
4/3	TWEEN REDCROSS CIRCLE TO KUMHER GATE CHORAHA N CIRCULAR ROAD	BHARATPUR	REGULAR	100	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
4/4 FR0	ETWEEN KM STONE 302 TO 315 ON NH-48 WHILE GOING OM BHILWARA TO KISHANGARH LHS TWEEN KM STONE 34 TO 36 ON SH-117	AJMER TONK	REGULAR REGULAR	150 100	ST CC 1	CFS DC	35	45 45	1575 1575	0	0	Draw of Lots Draw of Lots	0	3
476 BET	TWEEN KM STONE 34 TO 36 ON SH-117 TWEEN KM STONE 33 TO 36 ON SH-37A DUDU-CHHAN DAD	TONK	REGULAR	100	Open PH OBC	DC	35 35	45	1575	32 32	75	Draw of Lots	15	4
4// TO	TWEEN KM STONE 87 TO 92 ON NH52 (RHS FROM JAIPUR ) KOTA)	TONK	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
4/8	OM BARI BUS STAND TO INTERSECTION ON NH 11B(NEW 423)	DHOLPUR	REGULAR	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	TWEEN KM STONE 52 TO 57 ON SH-122 THIN 3 KM OF KUNDA TIRAHA ON SH 1	SAWAI MADHOPUR BHARATPUR	REGULAR REGULAR	100 100	Open OBC	DC DC	35 35	45 45	1575 1575	32 32	75 75	Draw of Lots Draw of Lots	15 15	5 4
	N TAJPUR ROAD WITHIN MUNICIPAL LIMITS GANGAPUR	SAWAI MADHOPUR	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
482 whi ma	tween Gulabbagh chouraha and purani Sabji mandi on LHS iile moving from gulabbagh chouraha towards purani sabji andi on purani sabji mandi road in Dholpur city	DHOLPUR	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
484 IN	UJANADI TO BHANDANWARA ON SH-26A BETWEEN BIJLI GHAR CHORAHA TO SARAS CHORAHA VIA	AJMER BHARATPUR	REGULAR REGULAR	100	ST OBC	CFS DC	35 30	45 30	1575 900	0	0	Draw of Lots Draw of Lots	0	3
CO	DLLECTORATE TWEEN KM STONE 16 AND 20 ON SH 42	DHOLPUR	REGULAR	100	OBC	DC	30	30	900	32	55 75	Draw of Lots Draw of Lots	15	4
486 BE1	TWEEN KM STONE 7 AND 11 FROM BARI ON SH 43	DHOLPUR	REGULAR	100	Open CC 1	DC	35	45	1575	32	75	Draw of Lots	15	5
	THIN 3 KM OF KUNDA TIRAHA ON SH 45 ML ITAWA	BHARATPUR KOTA	REGULAR	100 100	SC OBC	CFS DC	35 35	45 35	1575 1225	0 32	0 55	Draw of Lots Draw of Lots	0	3 4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appli		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
489 490	BETWEEN KM STONE 182 TO 186 ON SH 22 BETWEEN KM STONE 24 TO 27 ON SH-26	BHARATPUR AJMER	REGULAR REGULAR	100 100	Open Open	DC DC	35 35	35 45	1225 1575	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
491	BETWEEN KM STONE 59 TO 63 ON OLD NH11B (NEW NH23)	KARAULI	REGULAR	150	OBC	СС	35	45	1575	32	12	Bidding	30	4
492	FROM KM STONE 43 TO KM STONE 48 ON SH-22	KARAULI	REGULAR	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
493	WITHIN MUNICIPAL LIMIT OF KEKRI ( NOT ON HIGHWAY)	AJMER	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
494	WITHIN MINICIPAL LIMITS OF AJMER CITY ( NOT ON	AJMER	REGULAR	150	Open	DC	30	30	900	32	75	Draw of Lots	15	5
	HIGHWAY) BETWEEN KM STONE 76 TO 80 ON NH52(RHS FROM JAIPUR													
495	ΤΟ ΚΟΤΑ)	TONK	REGULAR	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
496	WITHIN 5 KM FROM JUNCTION SH-26 AND SH-12 TOWARDS SHAHPURA ON SH-12 ( WITHIN AJMER DISTRICT LIMITS)	AJMER	REGULAR	100	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
497	BETWEEN KM STONE 17 TO 19 ON SH-37A ( WITHIN TONK DISTRICT LIMITS)	TONK	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
498	Within 5 KM from Interesction of NH-52 & NH-552G towards	JHALAWAR	REGULAR	150	Open	СС	35	45	1575	32	12	Bidding	30	5
499	Beenda on NH-552G (Jhalrapatan-Ujjain Road) Between KM Stone 59 TO 62 on NH 552	TONK	REGULAR	150	OBC	CC	35	45	1575	32	12	Bidding	30	4
500	BETWEEN KM STONE 87 TO 90 ON OLD NH11B (NEW NH23)	KARAULI	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
501	Aklera Within Municipal Limits (Not on highway)	JHALAWAR	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
502	BETWEEN KM STONE 69 TO 72 ON OLD NH11B (NEW NH23)	KARAULI	REGULAR	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
503	Within 3 KM from intersection of NH-27 and SH-1 on LHS	BARAN	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
504	towards Jhalawar along SH-1 Between KM Stone 368-373 on NH-52	JHALAWAR	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
505	BETWEEN KM STONE 325 TO 335 ON NH-48 WHILE GOING	AJMER	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
506	FROM KISHANGARH TO BHILWARA LHS BETWEEN KM Stone 14 to 18 on NH23	TONK	REGULAR	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
507	Between KM Stone 361-365 on NH-52 (LHS from Kota to Jhalawar)	JHALAWAR	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
508	SH 33 KOTA TO LAKHERI BETWEEN KM STONE 165 TO 168	BUNDI	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
	BETWEEN KM STONE 64 TO 68 ON NH52 (LHS FROM JAIPUR													
509	TO KOTA)	TONK	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
510	FROM KM STONE 63 TO KM STONE 65 ON SH-22 Between Abheda Tiraha to Veer Durga Das Stadium on Nanta	KARAULI KOTA	REGULAR	100	OBC Open	DC DC	35 20	45 20	1575 400	32	75	Draw of Lots Draw of Lots	15	4
	Road BEETWEEN KM STONE 20 TO 23 ON SH-102 MANGLIYAWASH-													
512	NASIRABAD ROAD BETWEEN KM STONE 81 TO 84 ON SH-1, KOTA LALSHOT	AJMER	REGULAR	100	Open CC 1	DC	35	45	1575	32	75	Draw of Lots	15	5
513	HIGHWAY	SAWAI MADHOPUR	REGULAR	100	OBC	CC	35	45	1575	32	12	Bidding	30	4
514	VILLAGE SATALKHERI TEHSIL RAMGANJ MANDI ON SH 9B	KOTA	REGULAR	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
515	SH 33 KOTA TO LAKHERI BETWEEN KM STONE 145 TO 150	BUNDI	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
516	BETWEEN KM STONE 97 TO 99 INDERGARH TO SAWAIMADHOPUR ON SH 1	BUNDI	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
517	In Village Asnawar on NH-52 Tehsil Jhalrapatan	JHALAWAR	REGULAR	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
518	BETWEEN KM STONE 79 TO 83 ON SH-1, KOTA LALSHOT HIGHWAY	SAWAI MADHOPUR	REGULAR	100	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
519	NH 52 BETWEEN KM STONE 180 AND 186, LHS FROM JAIPUR TO KOTA	BUNDI	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
520	BETWEEN KM STONE 72 TO 76 ON OLD NH11B (NEW NH23)	KARAULI	REGULAR	150	Open	DC	35	45	1575	32	95	Draw of Lots	15	5
521	Between KM Stone 40 & 50 SH-74 Panwar-Sarola Kalan Road	JHALAWAR	REGULAR	100	OBC	DC CC	35 35	45	1575	32 32	75	Draw of Lots	15	4
522 523	BETWEEN KM STONE 1 TO 5 ON SH122 BETWEEN KM STONE 87 TO 92 ON NH52 (LHS FROM JAIPUR	TONK	REGULAR	100	Open SC CC 1	CFS	35	45 45	1575 1575	32	0	Bidding Draw of Lots	30 0	5
	TO KOTA) WITHIN 3 KM OF JUNCTION SH-12 AND SH-37A TOWARDS													
524	JAIPUR ON SH-12	TONK	REGULAR	100	Open CC 2	DC	35	45	1575	32	75	Draw of Lots	15	5
525	BETWEEN KM STONE 112 TO 115 ON NH 52 (OLD NH 12), LHS FROM KOTA	TONK	REGULAR	150	OBC CC 1	DC	35	45	1575	32	95	Draw of Lots	15	4
526	WITHIN 2 KM FROM HINDAUN BUS DEPOT, HINDAUN WITHIN MUNICIPAL LIMITS (NOT ON HIGHWAY)	KARAULI	REGULAR	100	Open	сс	30	30	900	32	12	Bidding	30	5
527	SH 51 Kota to BAPAWAR BETWEEN NH 27 AND CHANDRELOHI RIVER Within 5 KM from Aklera, starting at Intersection of NH-52	КОТА	REGULAR	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
528	Within 5 KM from Aklera, starting at Intersection of NH-52 and Agrawal Dharmshala Road, towards Bhopal on NH-52	JHALAWAR	REGULAR	150	OBC	DC	35	45	1575	32	95	Draw of Lots	15	4
529	TONK WITHIN MUNICIPAL LIMITS, WITHIN 1 KM FROM COLLECTORATE (NOT ON HIGHWAY) WITHIN 1 KM OF KARALILL CITY POST OFFICE KARALILL	TONK	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
530	WITHIN 1 KM OF KARAULI CITY POST OFFICE, KARAULI WITHIN MUNICIPAL LIMITS (NOT ON HIGHWAY)	KARAULI	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
	Between KM Stone 39 & 43 SH-51A Anta-Sangod Road WITHIN 2 KMS OF JINDAL HOSPITAL(BHARATPUR Within	BARAN	REGULAR	100	OBC	DC	35	45	1575	32	75	Draw of Lots	15	4
532	Municiple Limit)	BHARATPUR	REGULAR	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	BETWEEN KM STONE 60 TO 63 ON SH-26 between anjana chauraha to daulatpura, tehsil - deogardh on	AJMER	REGULAR	100	Open	DC	35	45	1575	32	75	Draw of Lots	15	5
534	sh 61, Rajsamand EITHER SIDE OF ROAD CONNECTING PRATAPNAGAR CIRCLE	RAJSAMAND	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
535	TO GEETANJALI HOSPITAL ON NH 48 UDAIPUR BYPASS	UDAIPUR	REGULAR	150	OBC	DC	30	30	900	32	95	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensic of the site M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC CC 1 OBC CC 1 OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
536	ON ANY MAIN ROAD 80FT OR MORE KALADWAS INDUSTRIAL AREA UDAIPUR	UDAIPUR	REGULAR	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
537	Either Side of road connecting Balicha Tiraha to Eklingpura Chauraha	UDAIPUR	REGULAR	150	Open	СС	30	30	900	32	12	Bidding	30	5
538	REVENUE VILLAGE BASSI (ON NH 27), TEHSIL CHITTORGARH	CHITTORGARH	REGULAR	150	Open CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
539	Within gangapur MUNICIPAL limits on krishi upaj mandi road, bhilwara	BHILWARA	REGULAR	100	OBC	СС	20	20	400	32	12	Bidding	30	4
540 541	Bali WML on SH 16 In sanganer area of Bhilwara Municipal Limit	PALI BHILWARA	REGULAR REGULAR	100 100	SC Open	CFS DC	35 30	35 30	1225 900	0 32	0	Draw of Lots Draw of Lots	0	3
542	Betweem KMS 165 to 180 on Udaipur Ajmer Road on NH-58	RAJSAMAND	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
543	(OLD NH-8) Between km stone 160 to 165 on NH-58 (OLD NH - 8) on	RAJSAMAND	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	udaipur ajmer highway rajsamand Betweem KMS 185 to 189 on Udaipur Ajmer Road on NH-58													
544 545	(old nh 8) on LHS while moving from Udaipur to Ajmer Village Jhadoli From Sirohi to Pindwara on LHS on NH 62	SIROHI	REGULAR	150 150	Open ST	DC CFS	35 35	35	1225	32	95	Draw of Lots Draw of Lots	15 0	5
546	Within 6 Km from 29 Mile circle, Towards Bhilwara on NH 48	BHILWARA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
547	LHS ON NH 48 WHILE GOING FROM UDAIPUR TO AHMEDABAD BETWEEN KMS 358 AND KMS 378	UDAIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
548	Within 4 kms from asind police station on main road, NH 158	BHILWARA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
549	REVENUE VILLAGE BORI (ON SH 10A), TEHSIL GARHI	BANSWARA	REGULAR	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
550	Either Side of road connecting Balicha Tiraha to Udiapole	UDAIPUR	REGULAR	150	OBC PH	DC	20	20	400	32	75	Draw of Lots	15	4
551 552	From Sirohi to Goyali between KM Stone No. 1 to 8 on SH-38 REVENUE VILLAGE PALKA ON NH 27, TEHSIL BASSI	SIROHI	REGULAR	100 150	Open Open	CC DC	35 35	35 35	1225 1225	32 32	12 95	Bidding Draw of Lots	30 15	5
553	FROM AASHAPURA TEMPLE TO FAKHRI REOSRT ON NH 927A	BANSWARA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
554	RHS AMBERI CHAURAHA TO KMS 750 WHILE GOING	UDAIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
555	TOWARDS PINDWARA FROM UDAIPUR ON NH 27 REVENUE VILLAGE SHAMBHUPURA, TEHSIL CHITTORGARH ON NH 79	CHITTORGARH	REGULAR	150	Open	сс	35	35	1225	32	12	Bidding	30	5
556	FROM SHEKHAWAT CIRCLE TO MANDDA CIRCLE ON CHOTISADRI ROAD, TEHSIL NIMBAHERA	CHITTORGARH	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
557	UIDAIPUR ON SH32	BANSWARA	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
558	Village Banas From Pindwara to Abu Road on LHS on NH 27	SIROHI	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
559	REVENUE VILLAGE PUROHITON KA SANWATA ON SH 9, TEHSIL CHITTORGARH	CHITTORGARH	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
560	FROM NEHRU GARDEN TO HOTEL MEERA IN CHITTORGARH CITY ON MAIN ROAD	CHITTORGARH	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
561	FROM VIRODAYA JAIN TIRTH TO GYAYAK HOSPITAL ON BANSWARA ROAD	BANSWARA	REGULAR	100	Open	CC	30	30	900	32	12	Bidding	30	5
562	FROM SALIYA BUS STAND TO WAJWANA BUS STAND ON NH 927A	BANSWARA	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
563	REVENUE VILLAGE BHUPALSAGAR ON SH 9, TEHSIL BHUPALSAGAR	CHITTORGARH	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
564	WITHIN 4 KM FROM BAGIDORA, TOWARDS BANSWARA ON SH83	BANSWARA	REGULAR	100	Open CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
565	FROM KAPASAN CIRCLE TO RTO OFFICE ON SH9	CHITTORGARH	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
566	Between kms stone 398 to 400 OF NH 48 (OLD NH 79) on LHS WHILE GOING TO CHITTORGARDH FROM BHILWARA	BHILWARA	REGULAR	150	Open	СС	35	35	1225	32	12	Bidding	30	5
567	Within 6 Kms from Bappa Rawal Tiraha towards Ramganjmandi, Rawatbhata Within Municipal Limits	CHITTORGARH	REGULAR	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
568	REVENUE VILLAGE CHANDOLI ON SH 15, TEHSIL CHOTI SADRI	PRATAPGARH	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
569	REVENUE VILLAGE BHOOTYAKHURD ON NH 27, TEHSIL BHADESAR	CHITTORGARH	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
570	Between km stone 916 to 919 on NH 27 towards CHITTORGARH TO KOTA	CHITTORGARH	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
571 572	Village Boya on SH 62A, Tehsil Bali Village Bera, on SH-62	PALI PALI	REGULAR REGULAR	100 100	Open SC CC 1	DC CFS	35 35	35 35	1225 1225	32 0	75	Draw of Lots Draw of Lots	15 0	5
573	From Abu Road Bus Stand to Manpur Tiraha, Abu Road	SIROHI	REGULAR	100	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
574	From Reodar to Dantrai between Km Stone No. 7 to 12 on SH 16A Within 2 KM from Estebuura circle, in any direction on main	SIROHI	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
575	Within 2 KM from Fatehpura circle, in any direction on main road, Udaipur City	UDAIPUR	REGULAR	150	Open PH	DC	20	20	400	32	75	Draw of Lots	15	5
	ž ,	PALI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
577	Village Arthwada From Sheoganj to Sirohi on LHS on NH 62 Between Kilometer Stone 14 to 15 on SH16A from reodar to	SIROHI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
578	Sundhmata FROM HINDUSTAN ZINC PVT LTD MAIN GATE TO CHETAK	SIROHI	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
579	FLOORING PVT LTD ON CHANDERIYA ROAD	CHITTORGARH	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
580	From Manpur Tiraha to Talheti Chouraha, Abu Road	SIROHI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
581	Village Pindwara on SH 62, Tehsil -Pindwara	SIROHI	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appli		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
582	Between KMSTONE 38 to 44 of old SH 67 (NEW NH 162 Ext) on Pali - Desuri Road	PALI	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
583	Between KMSTONE 582 to 586 on LHS from Jodhpur to Pali on NH62	PALI	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
584	Within 3 km from Ahinsa Circle in Banswara on any road	BANSWARA	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
585	RIICO Industrial Area, Sheoganj FROM BIRANTIYA KALAN TOLL PLAZA TO BIRANTIYA KALAN	SIROHI	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
586	ON LHS ON NH25	PALI	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
587	EITHER SIDE ON ROAD CONNECTING FCI UDAIPUR TO UDAIPUR INSTITUTE OF HOTEL MANAGEMENT	UDAIPUR	REGULAR	150	Open CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
588	Within 5 kms of ahinsa circle, bhilwara From Village Haripur to Velnik India Limited on NH458 Raipur	BHILWARA	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
589	Tehsil on either side	PALI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
590	WITHIN 2 KM OF GOVT. SR. SEC SCHOOL DARIYATI TOWARDS KUNWA ON SH 91	DUNGARPUR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
591	LHS ON SH 32 WHILE GOING FROM UDAIPUR TO SALUMBER BETWEEN KMS 109 TO KMS 111	UDAIPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
592	ANYWHERE ON ROAD CONNECTING FATEHPURA CIRCLE TO	UDAIPUR	REGULAR	150	Open	CC	20	20	400	32	12	Bidding	30	5
593	TB Hospital Badi , in Udaipur ANYWHERE ON 80 FEET OR MORE MAIN ROAD, HIRAN	UDAIPUR	REGULAR	150	Open	сс	20	20	400	32	12	Bidding	30	5
	MAGRI Village Kharchi within 2 km radius from Gyanusha											-		
594	Vridhashram Within 1 KM radius on any road from Vande Mataram Sr. Sec.	PALI	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
595	School, Pali	PALI	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
596	EITHER SIDE OF ROAD TOWARDS PINDWARA ON NH 27 CONNECTING AMBERI CHAURAHA TO INTERTECTION OF SH	UDAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
597	32 WITHIN MUNICIPAL LIMITS OF SAGWARA TOWN ON MAIN	DUNGARPUR	REGULAR	100	Open	DC	35	35	1225	32	55	Draw of Lots	15	5
	ROAD From Paldi(M) to Sirohi between Km Stone No. 695 to 705 on													
598 599	NH-62 on LHS	SIROHI	REGULAR	150	SC OBC	CFS DC	35 35	35 35	1225 1225	0 32	0 95	Draw of Lots	0	3
600	Between kms 354 AND 357 on NH 48, Bhilwara EITHER SIDE BETWEEN KMS STONE 32 AND KMS 36 ON SH	BHILWARA	REGULAR	150	Open	DC	35	35	1225	32	75	Draw of Lots Draw of Lots	15	5
	54 ASPUR DUNGARPUR ROAD LHS ON NH 48 WHILE GOING UDAIPUR TO CHITTORGARH	Donta at on	neood at	100	open	50	55	55	1225	52		bian of coto	15	
601	FROM DEBARI CIRCLE(DEBARI KAYA BYPASS JUNCTION) TO KMS 311 EITHER SIDE ON NH 48 WHILE GOING UDAIPUR TO	UDAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
602	AHMEDABAD BETWEEN KMS 338 AND KMS 348	UDAIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
603	ON EITHER SIDE BETWEEN VILLAGE CHAWANDIYA TO VILLAGE AGEWA ON NH 458	PALI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
604	FROM JUNCTION OF SH32 TOWARDS MOUNT LITERA SCHOOL IN KALADWAS INDUSTRIAL AREA ON MAIN ROAD EITHER SIDE	UDAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
605	EITHER SIDE OF ROAD CONNECTING SIDDHI VINAYAK HOSPITAL TO SEVASHRAM CHOWK	UDAIPUR	REGULAR	150	Open	CC	20	20	400	32	12	Bidding	30	5
606	EITHER SIDE OF NEW NH UDAIPUR BYPASS CONNECTING DEBARI AND KAYA (DEBARI-KAYA UDAIPUR BYPASS)	UDAIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
607	Mungthala bus stand to towards 2 km manpur tirahya on sh11 abu road	SIROHI	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
608	RHS OF UNIVERISTY ROAD FROM INOX LAKE CITY MALL TO	UDAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
609	MLSU MAIN GATE RHS OF ROAD CONNECTING BHUWANA CIRCLE TO AMBHERI	UDAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
	CIRCLE EITHER SIDE OF NH 58E UDAIPUR JHADOL ROAD BETWEEN													
610	KMS 1 TO KMS 10 EITHER SIDE FROM AMBHERI CIRCLE TOWARDS NATHDWARA	UDAIPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
611	WITHIN UDAIPUR DISTRICT LIMITS ON NH BETWEEN KMSTONE 168 TO 173 ON EITHER SIDE OF NH458	UDAIPUR	REGULAR	150	Open	CC	35	35	1225	32	12	Bidding	30	5
612	BETWEEN LAMBIYA TO JAITARAN WHILE GOING ASPUR TO DUNGARPUR FROM INTERSECTION	PALI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
613 614	OF JHARIYANA ROAD ON SH 54, 4 KMS TOWARDS DUNGARPUR Betweem KMS 120 to 130 on Udaipur Ajmer Road on NH-58	DUNGARPUR	REGULAR	100	OBC Open CC 1	CC DC	35	35	1225	32	95	Bidding Draw of Lots	30	4
615	(OLD NH-8), RAJSAMAND On SH - 79 , Revenue Village - Lunda , Tehsil -Kanore	UDAIPUR	REGULAR	130	Open CC 1 Open	DC	35	35	1225	32	93 75	Draw of Lots	15	5
616	BETWEEN KMS 66 AND KMS 68 ON SH 53 BHINDER SALUMBER ROAD	UDAIPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
617	Between Km Stone 150 to 170 on SH 12 on Shahpura Kekri road, BHILWARA	BHILWARA	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
618	WITHIN 3 KM FROM BUS STAND KHERODA ON BHINDER UDAIPUR ROAD	UDAIPUR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
619	LHS ON SH 54 CONNECTING ASPUR AND DUNGARPUR BETWEEN KMS 15 TO KMS 19	DUNGARPUR	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
620	Within 5 KM from Ganoda Bus Stand on SH 32, towards Banswara on LHS	BANSWARA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
621	FROM JUNCTION OF NH 48 UDAIPUR BYPASS TO THOKAR CIRCLE ON UDAI SAGAR ROAD EITHERSIDE WITHIN MUNICIPAL LIMITS OF DUNGARPUR ON ANY MAIN	UDAIPUR	REGULAR	150	OBC	сс	30	30	900	32	12	Bidding	30	4
622 623	ROAD 80 FT OR MORE Within Ghatol town in tehsil Ghatol on NH 113	DUNGARPUR	REGULAR	100 150	Open Open CC 2	CC DC	20 35	20 35	400 1225	32 32	12 95	Bidding Draw of Lots	30	5
624	Between KMS 51 to 55 on NH 758, RAJSAMAND	RAJSAMAND	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
625	On Either Side of NH158 on Ras - Babra Road	PALI	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OBC CC 1 OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
626	EITHER SIDE ON UDAIPUR-AHMEDABAD HIGHWAY NH 48, KHERWADA	UDAIPUR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
627	MADRI INDUSTRIAL AREA, ON ANY MAIN ROAD 80 FT OR MORE, UDAIPUR	UDAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
628	ROAD CONNECTING SURAJPOLE CIRCLE TO PRATAP NAGAR CIRCLE VIA THOKAR CIRCLE MAIN ROAD EITHER SIDE	UDAIPUR	REGULAR	150	OBC	сс	20	20	400	32	12	Bidding	30	4
629	RHS OF NH-48 WHILE GOING UDAIPUR TO CHITTORGARH BETWEEN KMS 265 TO KMS 269	UDAIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
630	Between kms stone 209 to 213 on udaipur ajmer road on nh - 58 (old nh 8)	RAJSAMAND	REGULAR	150	Open	СС	35	35	1225	32	12	Bidding	30	5
631	BETWEEN KM STONE 3 TO 7 on NH 148 D, BHILWARA	BHILWARA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
632	EITHER SIDE OF ROAD CONNECTING PRATAP NAGAR CIRCLE AND BHUWANA CIRCLE	UDAIPUR	REGULAR	150	OBC	СС	20	20	400	32	12	Bidding	30	4
633	Between kms stone 214 to 218 on nh 58 (old nh 8) on LHS while going from Ajmer to Udaipur Between KMS 109 TO 112, on Pratapgarh-mandsaur Rd (SH	RAJSAMAND	REGULAR	150 100	Open ST	CC CFS	35 35	35 35	1225 1225	32 0	12 0	Bidding	30 0	5
634	81A) Betwenn KMS 218 to 240 on either side of NH 58 (OLD NH-8)	PRATAPGARH	REGULAR								-	Draw of Lots		
635 636	on Udaipur Ajmer road REVENUE VILLAGE GOPALPURA (ON NH 27), TEHSIL BEGUN	RAJSAMAND	REGULAR	150 150	Open OBC	DC CC	35	35	1225 1225	32	95	Draw of Lots Bidding	15 30	5
637	Falna WML On SH 16	PALI	REGULAR	100	Open CC 1	CC	35	35	1225	32	12	Bidding	30	5
638	FROM DEBARI CIRCLE( DEBARI KAYA BYPASS INTERSECTION ON NH 48) TO AMBERI CHAURAHA EITHER SIDE ON NH	UDAIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
639	Betwenn KMS 10 TO 20 on Rajsamand Bhilwara road on NH 758	RAJSAMAND	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
640	Between keshav porwal hospital to Eraas circle, Bhilwara	BHILWARA	REGULAR	100	Open	CC	20	20	400	32	12	Bidding	30	5
641	Within 8 kms of meera circle, BHILWARA MUNICIPAL LIMITS	BHILWARA	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
642	Within Mandalgardh WML on any main road, BHILWARA Within jahazpur municpal limit on any main road more than	BHILWARA	REGULAR	100	OBC	CC	20	20	400	32	12	Bidding	30	4
643 644	50 ft WITHIN 8 KMS OF MAHARANA PRATAP CIRCLE, RAJSAMAND	BHILWARA	REGULAR	100 100	ST Open	CFS DC	20 20	20 20	400 400	0	0 55	Draw of Lots Draw of Lots	0	3
645	Within 5 km from trinetra circle in nathdawara MUNICIPAL	RAJSAMAND	REGULAR	100	Open	DC	30	30	900	32	55	Draw of Lots	15	5
646	limit, rajsamand Within 10 kms of ARAJIYA CIRCLE AND LOCATED ON KOTA BHILWARA BY PASS, bhilwara municipal limits	BHILWARA	REGULAR	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
647	Betweem KMS 212 to 214 on Udaipur Ajmer Road on NH-58 on LHS while moving from Rajsamand to Nathdwara (old nh 8)	RAJSAMAND	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
648	WITHIN MUNICIPAL LIMITS OF UDAIPUR ON ANY MAIN ROAD 100 FT OR MORE BETWEEN KM STONE 53 TO 57 ON SH-56 (DEOGARH-AMET	UDAIPUR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
649	ROAD)	RAJSAMAND	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
650	Between gomti chauraha and desuri on sh 12, rajsamand Between KMSTONE 165 to 167 on NH 458 from Lambiya to	RAJSAMAND	REGULAR	100	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
651	Jaitaran on Either Side Within Bhim Municipal limit on any main road greater than 50	PALI	REGULAR	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
652 653	ft Between kms stone 40 to 70 on kelwara udaipur road, NH 162	RAJSAMAND	REGULAR	100 150	Open Open	DC DC	20 35	20 35	400 1225	32	55 95	Draw of Lots Draw of Lots	15	5
654	E Anywhere on 80 feet or more road in Bhuwana within udaipur	UDAIPUR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
655	municipal limits Within 8 Km from P and T circle on pur road , Bhilwara City	BHILWARA	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
656	REVENUE VILLAGE CHHINCH, ON SH83, TEHSIL BAGIDORA	BANSWARA	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
657	In between km stone 21 to 27 on SH 49 (MAVLI NATHDWARA ROAD)	RAJSAMAND	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
658	WITHIN 4 KM FROM BAGIDORA, TOWARDS GARHI ON SH43	BANSWARA	REGULAR	100	OBC	сс	35	35	1225	32	12	Bidding	30	4
659	BETWEEN KMS stone 60 TO 70 on NH 148 D ON ASIND TO Bhim	BHILWARA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
660	Within 2 KMS from Tej Singh Circle on 200 ft ring road, Bhilwara	BHILWARA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
661	4 KM FROM SYPHON CIRCLE TOWARDS BADGAON ON MAIN ROAD EITHERSIDE WITHIN UDAIPUR MUNICIPAL LIMITS	UDAIPUR	REGULAR	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
662	Within 4 kms from Kamlighat chauraha towards deogardh bus stand on sh 61 Between Nadol to Narlai on old SH 67 (new nh 162ext) on Pali	RAJSAMAND	REGULAR	100	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
663	- Desuri Road Within 10 KM from sawaibhoj temple , asind on NH 158	PALI	REGULAR	150	Open CC 1	СС	35	35	1225	32	12	Bidding	30	5
664	towards NH 148 D Between km stone 125 to 135 on kelwara Charbhuja road, NH	BHILWARA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
665	162 E On either side of Pali Bhilwara Road from Pali to Kherwa on SH	RAJSAMAND	REGULAR	150	SC	CFS DC	35	35	1225	0	0 75	Draw of Lots	0	3
666 667	132 REVENUE VILLAGE SEHDARIYA TEHSIL MADHORAJPURA	PALI JAIPUR	RURAL	100 50	Open Open	DC	35	35	1225 1225	32 16	35	Draw of Lots Draw of Lots	5	5 4
668	IN REVENUE VILLAGE PAPDA, TEHSIL VIRATNAGAR ON MDR 251	JAIPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
669	ON MDR 175 BETWEEN NARHERA AND BERI	JAIPUR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appli		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
	REVENUE VILLAGE HARSULIYA TEHSIL MADHORAJPURA	JAIPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	IN REVENUE VILLAGE BARI JORI TEHSIL SHAHPURA	JAIPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	In Revenue Village Chawandkamand, Tehsil Jamwa Ramgarh	JAIPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	VILLAGE SHIVDASPURA TEHSIL CHAKSU BETWEEM KM STONE No. 10 TO 11 ON PAOTA TO NAREDA ROAD ON MDR 175	JAIPUR	RURAL	50 50	ST Open	CFS DC	35 35	35 35	1225 1225	0	0 35	Draw of Lots Draw of Lots	0 5	2
675	ON MDR 251, REVENUE VILLAGE SITOPSINGHPURA TEHSIL PAOTA	JAIPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
676	ON MDR 231, REVENUE VILLAGE GHEWTA TEHSIL VIRATNAGAR	JAIPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
677	Village Dunkar, Tehsil Bidasar	CHURU	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
678	Village Raghunathpura urf Gondkawas, Tehsil Kotkhadwa on Kotkhadwa Raghunathpura road Village Doda Dungar, Tehsil Jamwaramgarh on Nayla Boojh	JAIPUR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
679	Road	JAIPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	Revenue Village Anantpura, Tehsil Chomu Revenue Village Dewala, Tehsil Mauzamabad on Mahlan Boraj	JAIPUR	RURAL	50	Open CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
681	Road	JAIPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	Revenue Village Habaspura, Tehsil Phulera Within 4 Kms from PN Public School (Main Campus) on	JAIPUR	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
683 684	Karansar Road towards Village Harsoli	JAIPUR	RURAL	50 50	OBC	DC DC	35 35	35 35	1225 1225	16	35	Draw of Lots	5	3 4
	Revenue Village Basri Khurd, Tehsil Kishangarh Renwal Revenue Village Bhainsawa, Tehsil Jobner	JAIPUR	RURAL	50	Open Open	DC	35	35	1225	16 16	35	Draw of Lots Draw of Lots	5	4
686	Revenue Village Barkheda, Tehsil Dausa on Nangal Bersi Road	DAUSA	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
687	Revenue Village Dhankhera, Tehsil Ramgarh on Balbir Chowk to Malakhera Road	ALWAR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
688	Within Revenue Village Baseth, Tehsil Kathoomar on Baseth to Behtoo Kalan Road	ALWAR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	Revenue Village Nindar, Tehsil Amber	JAIPUR DAUSA	RURAL RURAL	50 50	Open CC 2 OBC CC 1	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
690	Within Revenue Village Dehlas, Tehsil Nangal Rajawatan Within 3Km from Main Gate of Manga Sidh Baba Mandir on Bandikui Biwai Road towrads Village Biwai	DAUSA	RURAL	50	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
692	Village Paharawas, Tehsil Harsauli On Kishangarh Kotkasim	ALWAR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	Road Village Khuiyan, Tehsil Nohar On Khuiyan-Nohar Road	HANUMANGARH	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	Within limits of Revenue Village Ghat, Tehsil Laxmangarh VILLAGE - MANDASURERA, EXCEPT ON ANY SH AND NH	ALWAR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
695	VILLAGE - MANDASURERA, EACEPT ON ANY SHAND NH ROAD, DANTA RAMGARH TEHSIL VILLAGE -SULTANA, EXCEPT ON ANY SH AND NH ROAD, IN	SIKAR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
696	CHIRAWA TEHSIL VILLAGE - NORANGPURA EXCEPT ON ANY SH AND NH ROAD,	JHUNJHUNU	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
697	VILLAGE - NORANGEORA EACEFT ON ANY SHAND NH ROAD, IN VILLAGE - BASAWA EXCEPT ON ANY SH AND NH ROAD, IN	JHUNJHUNU	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
698	NAVALGARH TEHSIL VILLAGE - MANAKSAS EXCEPT ON ANY SH AND NH ROAD, IN	JHUNJHUNU	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
699	UDAIPURWATI TEHSIL VILLAGE - KEERPURA, EXCEPT ON ANY SH AND NH ROAD, IN	JHUNJHUNU	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
700	GUDHA- GORJI TEHSIL VILLAGE - BUDANIA EXCEPT ON ANY SH AND NH ROAD, IN	JHUNJHUNU	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
701	CHIRAWA TEHSIL VILLAGE - JHAJHAR EXCEPT ON SH AND NH ROAD , IN	JHUNJHUNU	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
702	NAVALGARH TEHSIL	JHUNJHUNU	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
703	VILLAGE - HEERWANA EXCEPT ON ANY SH AND NH ROAD, IN GUDHAGORJI TEHSIL	JHUNJHUNU	RURAL	50	Open CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
704	VILLAGE - MANGLOONA, EXCEPT ON ANY SH AND NH ROAD, IN NECHWA TEHSIL VILLAGE -SINGNORE, EXCEPT ON ANY SH AND NH ROAD, IN	SIKAR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
705	UDAIPURWATI TEHSIL VILLAGE - SOLANA, EXCEPT ON ANY SH AND NH ROAD, IN	JHUNJHUNU	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
706	CHIRAWA TEHSIL Within 10 Kms from SH-94 intersection at Ramsinghpur on		RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
707	Gharsana-Ramsinghpur Road Revenue Village Hingota, Tehsil Laxmangarh on Laxmangarh	SRI GANGANAGAR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	to Gandoora Road													3
710	Village Salasar, Tehsil Sujangarh	CHURU	RURAL	50	51 Open	DC	35	35	1225	0 16	35	Draw of Lots Draw of Lots	5	4
711	BETWEEN DALI BAI MANDIR CHOURAHA TO JHANWAR ON JODHPUR JHANWAR ROAD	JODHPUR	RURAL	50	Open	сс	35	35	1225	16	6	Bidding	10	4
/12	ROAD	JODHPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	VILLAGE FEENCH ON JODHPUR -DHUNDARA ROAD	JODHPUR JODHPUR	RURAL RURAL	50 50	SC Open	CFS DC	35 35	35 35	1225 1225	0 16	0 35	Draw of Lots Draw of Lots	0	2
	VILLAGE ROHILA KHURD ON ROAD CONNECTING ROHILA													4
	KALAN TO MOKLAWAS BETWEEN KM Stone 118 to 120 on BESROLI HARSORE ROAD	NAGAUR	RURAL	50	ОВС РН	DC	35	35	1225	16	35	Draw of Lots	5	3
	(MDR 181) BETWEEN VILL BAKTIYARPURA AND VILL KURKI ON	NAGAUR	RURAL	50	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
718	ALNIYAWAS LAMBIYA ROAD VILLAGE DHOLIYA ON DHOLIYA -TEKRA ROAD	JODHPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
708 709 710 711 712 713 714 715 716 717	Revenue Village Hingota, Tehsil Laxmangarh on Laxmangarh to Gandoora Road Village Dhindhol, Tehsil Bassi on Devgaon-Bassi road Village Salasar, Tehsil Sujangarh BETWEEN DALI BAI MANDIR CHOURAHA TO JHANWAR ON JODHPUR JHANWAR ROAD BETWEEN PIPAR CITY TO VILL RANSIGAON ON KHEJARLA ROAD VILLAGE FEENCH ON JODHPUR -DHUNDARA ROAD VILLAGE FEENCH ON JODHPUR -DHUNDARA ROAD VILLAGE ROHILA KHURD ON ROAD CONNECTING ROHILA KALAN TO MOKLAWAS BETWEEN KM Stone 118 to 120 on BESROLI HARSORE ROAD (MDR 181) BETWEEN VILL BAKTIYARPURA AND VILL KURKI ON ALINYAWAS LAMBIYA ROAD	ALWAR JAIPUR CHURU JODHPUR JODHPUR JODHPUR JODHPUR JODHPUR NAGAUR NAGAUR	RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL	50 50 50 50 50 50 50 50 50 50 50	OBC ST Open Open OBC SC Open Open OBC PH SC PH	DC CFS DC CC DC CFS DC DC DC CFS CFS	35 35 35 35 35 35 35 35 35 35 35 35	35 35 35 35 35 35 35 35 35 35 35 35 35	1225 1225 1225 1225 1225 1225 1225 1225	16 0 16 16 16 16 16 16 16 16 0	35 0 35 6 35 0 35 35 35 35 35 0	Draw of Lots Draw of Lots Draw of Lots Bidding Draw of Lots Draw of Lots Draw of Lots Draw of Lots Draw of Lots Draw of Lots		5 0 5 10 5 0 5 5 5 0

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
719	VILLAGE BEDOO KALAN ON DENOK - NIMBOO KA TALAB ROAD	JODHPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
720	VILL KANSINGH KI SID ON JAMBA KAN SINGH KI SID ROAD	JODHPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
721	Village Motai on Jamba Aau Road BETWEEN VILLAGE DHANRIKALLAN AND DHANRI KHURD ON	JODHPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
722	OSIAN SOILA ROAD Vill unawara ON BARSINGO KA BAS RADIYA BERA ROAD	JODHPUR	RURAL	50 50	ST Open	CFS DC	35	35	1225 1225	0	0 35	Draw of Lots Draw of Lots	0	2
	VILL SEKHASAR TEHSIL BAP	JODHPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	VILL KHIRJA TIBNA ON BALESAR SATTA KHIRJA TIBNA ROAD	JODHPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
726 727	VILL GHANTIYALI ON GHANTIYALI AAU ROAD BETWEEN KM STONE 6 TO 7 ON KONERI JIYABERI ROAD	JODHPUR JODHPUR	RURAL RURAL	50 50	SC OBC	CFS DC	35 35	35	1225 1225	0	0	Draw of Lots Draw of Lots	5	2
728	VILL POONASAR KHURD ON CHADI JAKHAN ROAD	JODHPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
729	VILLAGE DHADARWALA ON CHEEMANA SAISAR ROAD	JODHPUR	RURAL	50	Open CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
730	BETWEEN NATHWANA TO KISNASAR (TEHSIL- LUNKARANSAR)	BIKANER	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
731	WITHIN 4 KMS FROM DEH TOWARDS NH 11 (OLD NH 15) TEHSIL- KOLAYAT	BIKANER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
732	BETWEEN KALYANSAR NAYA TO UPNI (TEHSIL- SRI DUNGARGARH)	BIKANER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
733	WITHIN 2 KMS FROM RD 465 TOWARDS 12 SLD (TEHSIL- CHHATTARGARH)	BIKANER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
734	WITHIN 3 KMS FROM BSF SAM PARK ENTRANCE GATE TOWARDS JAISALMER ON MDR 53	JAISALMER	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
735	WITHIN 4 KMS FROM BHAREWALA CIRCLE (RHS) TOWARDS BAHLA VIA 0 RD WITHIN 3 KMS FROM GRAM PANCHAYAT BHAWAN (RAJIV	JAISALMER	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
736	GANDHI SEVA KENDRA) -MOOLANA TOWARDS RASLA (TEHSIL-FATEHGARH)	JAISALMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
737	WITHIN 2 KMS FROM KODAMDESAR TOWARDS NAL (TEHSIL KOLAYAT) ON RHS WITHIN 2 KMS FROM GOVERNMENT SENIOR SECONDARY	BIKANER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
738	SCHOOL - MEHRON KI DHANI TOWARDS KOHRA (TEHSIL- FATEHGARH)	JAISALMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
739	BETWEEN KM STONE 1 TO KM STONE 6 WHILE MOVING FROM POKARAN TO SANKARA ON MDR 289 (RHS)	JAISALMER	RURAL	50	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
740	WITHIN 3 KMS FROM SHAHEED RAKESH KUMAR CHOTIYAN STATUE - DHEERDESAR CHOTIAN TOWARDS KITASAR BHATIAN (TEHSIL- SRI DUNGARGARH)	BIKANER	RURAL	50	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
741	BETWEEN SURPURA TO SINJGURU (TEHSIL- NOKHA)	BIKANER	RURAL	50	Open PH	DC	35	35	1225	16	35	Draw of Lots	5	4
742	WITHIN 2 KMS FROM BACHHASAR CHAURAHA (LHS)TOWARDS NAL ON MDR 296 CONNECTING NH 11 AT NAL AND NH 62 AT PALANA	BIKANER	RURAL	50	OBC	сс	35	35	1225	16	6	Bidding	10	3
743	WITHIN 5 KMS FROM CHELAK PHANTA TOWARDS JAISALMER (TEHSIL-FATEHGARH)	JAISALMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
744	WITHIN 2 KMS FROM RSV SCHOOL RATRIYA TOWARDS DHARNOK (TEHSIL-NOKHA)	BIKANER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
745	WITHIN 2 KMS FROM CHAUDHARIYA PHANTA TOWARDS BARAMSAR WITH BAISAKHI (TEHSIL-JAISALMER)	JAISALMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
746	WITHIN 3 KM FROM GRAM PANCHAYAT OF VILL. FAGOTRA, TEHSIL BHINMAL ON BHINMAL - BIJROL KHERA ROAD	JALORE	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
747	WITHIN 1 KM FROM UNDU CHOURAHA, VILLAGE UNDU ON UNDU - BANDHEWA ROAD TOWARDS BANDHEWA	BARMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
748	VILLAGE MORDA, TEHSIL KALYANPUR ON BALOTRA - DHAWA ROAD	BARMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
749	BETWEEN HRRL TOWNSHIP AND SHANI DEV TEMPLE ROAD ON HRRL TOWNSHIP TO DISTRICT TRANSPORT OFFICE (DTO) BALOTRA TO SHANI DEV TEMPLE ROAD	BARMER	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
750	WITHIN 8 KM FROM GULAB CIRCLE PACHPADRA ON GULAB CIRCLE PACHPADRA TO KHED ROAD	BARMER	RURAL	50	OBC	сс	35	35	1225	16	6	Bidding	10	3
751	ON ROAD (NOT ON NH) AROUND HRRL REFINERY PACHPADRA CONNECTING GATES OF REFINERY TO NH-25	BARMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
752	WITHIN 8 KM FROM BHINMAL YATAYAT KARYALAY (TRAFFIC OFFICE) TOWARDS SANCHORE ON BHINMAL - SANCHORE ROAD	JALORE	RURAL	50	Open CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
753	WITHIN 7 KM FROM MALHAAN SHAKTI VIDYAPITH HARSANI ON SHIV TO GADRA ROAD	BARMER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
754	VILLAGE BARSINGA, TEHSIL SHIV ON FATEHGARH - HARSAANI ROAD IN DISTRICT BARMER	BARMER	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
755	WITHIN 2 TO 4 KM FROM GOVT. HOSPITAL SIYANA TOWARDS SIROHI ON SIYANA - SIROHI ROAD	JALORE	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
756	VILLAGE DOLANIYON KI DHANI, TEHSIL DHORIMANNA ON DHORIMANNA - DHANAU ROAD	BARMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site M.). *		Finance to be a appli		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6 SC	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
	VILLAGE SINDHASWA CHOUHAN, TEHSIL GUDAMALANI WITHIN 4 KM FROM TEHSIL OFFICE RAMSAR ON RAMSAR -	BARMER	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
758	CHOHTAN ROAD	BARMER	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
759 760	VILLAGE BHER TEHSIL KHIMSAR VILL PANCHROLIYA KHURD ON MERTA RIYA BARI ROAD	NAGAUR NAGAUR	RURAL	50 50	Open Open	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
761	From Mahrana Pratap Circle to Samrat Prithviraj Chouhan Circle on Kalwa-Joosri Road	NAGAUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
762	VILLAGE BOARI KALLAN ON PHALODI BAORI KALLAN ROAD	JODHPUR	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
763	VILL BERI KHURD ON DINDARPURA BERI KHURD ROAD	NAGAUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
764	VILL BORWA ON BORWA JUNJHALA ROAD	NAGAUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
765	VILL KALAU ON DECHU KALAU ROAD	JODHPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
766	VILL DEEDIYA KALA ON MUNDWA ROL ROAD	NAGAUR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
767	VILLAGE -KANPURA, TEHSIL-NASIRABAD ( NOT ON HIGHWAY)	AJMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	VILLAGE OONTRA TEHSIL AJMER (NOT ON HIGHWAY) Village Palayatha (Not on highway) Tehsil Antah	AJMER BARAN	RURAL RURAL	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	3
770	Within 2 KM from Rajkiya Uchcha Prathamik Vidyalaya-Kachiya	BARAN	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	Thana on Agar Road VILLAGE TABEEJI ,TEHSIL-AJMER (NOT ON HIGHWAY)	AJMER	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
772	VILLAGE AKODIYA ,TEHSIL -ARAIN ( NOT ON HIGHWAY)	AJMER	RURAL	50	OBC	CC	35	35	1225	16	6	Bidding	10	3
773	Village Kishanpura (Not on highway) Tehsil Mangrol	BARAN	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
774	VILLAGE LODHA KI JHONPARIYAN ON DABLANA TO DHABAIYON KA NAYA GAON ROAD	BUNDI	RURAL	50	Open	сс	35	35	1225	16	6	Bidding	10	4
775	VILLAGE SODA, TEHSIL -MALPURA (NOT ON HIGHWAY)	TONK	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
776	VILLAGE HINGONIA , TEHSIL- SARWAR ( NOT ON HIGHWAY)	AJMER	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
777	Within 2 Km of Pratap Circle Towards Kamleshwar Mahadev Temple Tehsil Indergarh	BUNDI	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
778	VILLAGE SAWAN BHADON TEHSIL SANGOD NOT ON HIGHWAY	KOTA	RURAL	50	Open CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
779 780	5 KM FROM WEIR BUS STAND ON WEIR - HALENA ROAD TOWARDS INTERSECTION A NH 21 VILLAGE NAGAR, TEHSIL-MALPURA (NOT ON HIGHWAY)	BHARATPUR	RURAL	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	16 0	35 0	Draw of Lots Draw of Lots	5	3 2
781	ITAWA BYPASS ROAD (BETWEEN INTERSECTION WITH SH 70 AND POWER HOUSE )	КОТА	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
782	WITHIN 4 KM FROM JULMI TIRAHA TO SUKET ROAD TEHSIL RAMGANJMANDI	KOTA	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
783	VILLAGE ITAMADA, TEHSIL BHUSAWAR	BHARATPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
784	Within 2 KM from Karwari Kalan Tiraha towards Kishanganj on Kishanganj to Mangrol via Ramgarh Road	BARAN	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
785	KHERABAD TIRAHA TO REENCHHARIYA ROAD TEHSIL RAMGANJMANDI	KOTA	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
786	VILLAGE Bagawada ( KHATOLI TO SAWAIMADHOPUR ROAD) Between Village Sar Kheri and Village Rampuriya on Sar Kheri-	KOTA	RURAL	50	Open	сс	35	35	1225	16	6	Bidding	10	4
787	Rampuriya Road	JHALAWAR	RURAL	50	OBC	DC	35	45	1575	16	35	Draw of Lots	5	3
788 789	Village Rajpura on Dhanao to Dhabhaiyon ka NayaGaon Road VILLAGE SATHOOR, TEHSIL HINDOLI NOT ON HIGHWAY	BUNDI	RURAL	50 50	Open SC CC 1	CC CFS	35 35	35	1225 1225	16 0	6	Bidding Draw of Lots	10 0	4
790	VILLAGE SATHOOR, TENSIL HINDOLI NOT ON HIGHWAT	KOTA	RURAL	50	Open CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
791	VILLAGE MANDOLAI , TEHSIL-TODARAISINGH (NOT ON	TONK	RURAL	50	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
792	HIGHWAY) VILLAGE DHIKOLIYA, TEHSIL UNIARA (NOT ON HIGHWAY)	TONK	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
793	Between KM Stone 18 to 20 on MDR-4 Atru-Khanpur Road	BARAN	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
794	VILLAGE TALAB GAON TEHSIL HINDOLI NOT ON HIGHWAY	BUNDI	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
795	VILLAGE HINGOTIA, TEHSIL NIWAI (NOT ON HIGHWAY)	TONK	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
796	BETWEEN VILLAGE PIPLDA AND DATULI (NOT ON HIGHWAY)	SAWAI MADHOPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
797	VILLAGE JATWARI (KHATOLI TO SAWAIMADHOPUR ROAD)	KOTA	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
798	VILLAGE ATAK, TEHSIL HINDAUN (NOT ON HIGHWAY)	KARAULI	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
799	VILLAGE KHARETA, TEHSIL HINDAUN (NOT ON HIGHWAY)	KARAULI	RURAL	50	Open	CC	35	35	1225	16	6	Bidding	10	4
800	VILLAGE MAHENDWARA, TEHSIL TODABHIM (NOT ON HIGHWAY)	KARAULI	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
801	VILLAGE NEEMOLA TEHSIL PIPALDA NOT ON SH	KOTA	RURAL	50	OBC	CC	35	35	1225	16	6	Bidding	10	3
802 803	Village Sunel (Not on Highway) Tehsil Sunel VILLAGE LAHAWAD (NOT ON HIGHWAY)	JHALAWAR KARAULI	RURAL	50 50	SC Open	CFS DC	35 35	35 35	1225 1225	0 16	0	Draw of Lots Draw of Lots	0	2
	Within 5 KM starting from Intersection of NH-27 and Bhanwargarh-Nagargarh-Fategarh Road, moving towards	BARAN	RURAL	50	Open CC 1	сс	35	35	1225	16	6	Bidding	10	4
	Nahargarh (Not on Highway) VILLAGE BALLABHGARH, TEHSIL BHUSAWAR	BHARATPUR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
806	VILLAGE KHOHARA GHUSETI , TEHSIL HINDAUN (NOT ON HIGHWAY)	KARAULI	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensio of the site ( M.). *		Finance to be a appl	rranged by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
807	VILLAGE PIPALDA TO VILLAGE JUSTANA (BOTH VILLAGES INCLUDED - NOT ON HIGHWAY)	SAWAI MADHOPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
808	VILLAGE CHHAKRA, TEHSIL WAZIRPUR (NOT ON HIGHWAY)	SAWAI MADHOPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	VILLAGE GARDARA TEHSIL BUNDI NOT ON HIGHWAY	BUNDI	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
810	VILLAGE KHANDEWAT, TEHSIL NIWAI (NOT ON HIGHWAY)	TONK	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
811 812	VILLAGE POONETA, TEHSIL BONLI (NOT ON HIGHWAY) VILLAGE JHILAI, TEHSIL NIWAI (NOT ON HIGHWAY)	SAWAI MADHOPUR TONK	RURAL RURAL	50 50	ST Open	CFS DC	35 35	35 35	1225 1225	0 16	0 35	Draw of Lots Draw of Lots	0	2
813	Village Gangdhar (Not on highway) Tehsil Gangdhar	JHALAWAR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
814 815	VILLAGE GAWADI , TEHSIL -DEOLI (NOT ON HIGHWAY) Village Mandawar (Not on highway) Tehsil Jhalrapatan	TONK JHALAWAR	RURAL	50 50	Open ST PH	DC CFS	35 35	35 35	1225 1225	16 0	35 0	Draw of Lots Draw of Lots	5	4
816	Village Mandawar (Not on highway) Tensii Jhairapatan Village Dantah (Not on Highway)	BARAN	RURAL	50	OBC PH	DC	35	35	1225	16	35	Draw of Lots	5	3
817	VILLAGE SALEMABAD ,TEHSIL KISHANGARH (NOT ON HIGHWAY)	AJMER	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
818	VILLAGE DHORR, TEHSIL BASERI	DHOLPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
819	Village Raipur (Not on highway) Tehsil Raipur	JHALAWAR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
820 821	VILLAGE CHAK GAZIPUR TEHSIL TODABHIM (NOT ON HIGHWAY) VILLAGE PIPALDA TEHSIL PIPALDA NOT ON HIGHWAY	KARAULI KOTA	RURAL	50 50	SC Open	CFS DC	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	2
	WITHIN 2 KM OF DEV NARAYAN YOJNA ON KHADE GANESH													
822	JI ROAD	KOTA	RURAL	50	Open	CC	35	35	1225	16	6	Bidding	10	4
	Village Mishroli (Not on highway) Tehsil Pachpahar VILLAGE SOP, TEHSIL NADOTI - SOP TO LHAWAD VILLAGE	JHALAWAR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
824	ROAD(NOT ON HIGHWAY)	KARAULI	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
825	VILLAGE BHOODA, TEHSIL TODABHIM (NOT ON HIGHWAY)	KARAULI	RURAL	50	Open	CC	35	35	1225	16	6	Bidding	10	4
826	Village Guradiya Mana (Not on highway) Tehsil Pachpahar	JHALAWAR	RURAL	50	Open	CC	35	35	1225	16	6	Bidding	10	4
827	between 3kms to 5kms from Rajkiya Prathmik Swathya Kendra, VILL - AAMA towards Mangrop on LHS on MDR 136,	BHILWARA	RURAL	50	Open	сс	35	35	1225	16	6	Bidding	10	4
828	Bhilwara Village Khinwara Tehsil Rani	PALI	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
829	VILLAGE CHANOD Within 5 Km from village agucha towards NH 48 (OLD NH-79)	PALI	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
830 831	, Tehsil - Hurda Within village chitamba, bhilwara	BHILWARA	RURAL	50 50	Open CC 1 OBC	DC DC	35 35	35 35	1225 1225	16 16	35	Draw of Lots Draw of Lots	5	4
832	WITHIN 2 KMS OF AMALDA CHAURAHA ON KACHOLA JAHAZPUR ROAD	BHILWARA	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
833	BETWEEN VILLAGE KHARADI TO VILLAGE DIGARNA ON EITHER SIDE	PALI	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
834	ON ANOPPURA TO KUNDWA ROAD, THESIL - DEOGARDH, RAJSAMAND	RAJSAMAND	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
835	REVENUE VILLAGE BINOTA, TEHSIL NIMBAHERA	CHITTORGARH	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
836	Revenue Village Gilund, on Gilund to Shambhupura Rd	CHITTORGARH	RURAL	50	Open	CC	35	35	1225	16	6	Bidding	10	4
	Village siyana , Tehsil amet on any main road	RAJSAMAND	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	Between Desuri To Sonana on Desuri-Sonana-Khetlaji Road	PALI	RURAL	50	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
839 840	Revenue village Sewda, Tehsil Sheoganj Revenue Village Bassi, on Bassi to Nimbanera-Amma Rd	SIROHI CHITTORGARH	RURAL	50 50	OBC CC 1 Open	DC DC	35 35	35 35	1225 1225	16 16	35	Draw of Lots Draw of Lots	5	3
841	Village Rampura, Tehsil Sirohi	SIROHI	RURAL	50	Open PH	DC	35	35	1225	16	35	Draw of Lots	5	4
842	BETWEEN VILLAGE ROOPAWAS TO VILLAGE BHANWARI	PALI	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
843	Within 8 kms from Omthi village towards hathile hanuman ji mandir chauraha, Omthi-kelwa chaupati road, Rajsamand	RAJSAMAND	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
844	Within 15 KM from Shree Ramchandra Memorial Hospital , amet towards kelwa on MDR77 , Rajsamand	RAJSAMAND	RURAL	50	Open	CC	35	35	1225	16	6	Bidding	10	4
845	REVENUE VILLAGE RASHMI, TEHSIL RASHMI	CHITTORGARH	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
846	EITHER SIDE OF ROAD CONNECTING SS COLLEGE OF ENGINEERING TO RAMA PHOSPAHTES LTD. ON MDR 11	UDAIPUR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
847	REVENUE VILLAGE KELI ON MDR 20, TEHSIL NIMBAHERA	CHITTORGARH	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
848 849	REVENUE VILLAGE BARI SAKHTHALI, TEHSIL DALOT REVENUE VILLAGE MOTI BASSI ON MDR 137, TEHSIL	PRATAPGARH	RURAL	50 50	Open Open	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots	5	4
850	ARTHUNA REVENUE VILLAGE NAGRI ON VILLAGE ROAD 158, TEHSIL BASSI	CHITTORGARH	RURAL	50	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
851	REVENUE VILLAGE KUSHALKOT, TEHSIL ARTHUNA	BANSWARA	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
852	REVENUE VILLAGE AMARSINGH KA GADA, TEHSIL GANODA	BANSWARA	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
853	LHS OF ROAD WHILE GOING BHASOR TO SURELA BETWEEN KMS 1 TO KMS 3	DUNGARPUR	RURAL	50	Open CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
854	REVENUE VILLAGE SOHANKHERA, TEHSIL BHADESAR	CHITTORGARH	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
855	WITHIN 3 KMS FROM VILLAGE NADOL ON RANI ROAD, TEHSIL DESURI	PALI	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
856	FROM NIKUMBH CIRCLE TO GOVT SCHOOL NAPAVALI ON MDR 11A	CHITTORGARH	RURAL	50	Open	сс	35	35	1225	16	6	Bidding	10	4
857	REVENUE VILLAGE BAMNIYA , TEHSIL CHITTORGARH	CHITTORGARH	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3

SI. No	Name of location			Estimated monthly Sales Potential #	Category	Type of Site*		m Dimensic of the site M.). *	•	••	icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
858	WITHIN 2 KMS OF ST. TERESA SCHOOL EITHERSIDE ON MAVLI	UDAIPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
859	PALANA ROAD	PALI	RURAL	50	Open	СС	35	35	1225	16	6	Distation of	10	4
	Varawal to Dudani on village road, Tehsil Bali Village Dodua, Tehsil Sirohi	SIROHI	RURAL	50	Open ST	CFS	35	35	1225	0	0	Bidding Draw of Lots	0	2
861	REVENUE VILLAGE KURATIYA, TEHSIL GANGRAR	CHITTORGARH	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
862	Revenue village - Kailash Nagar, Tehsil Sirohi	SIROHI	RURAL	50	Open	CC	35	35	1225	16	6	Bidding	10	4
863	Revenue village - Nadiya, Tehsil Bali	PALI	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
864	BETWEEN SOJAT TO BILARA VIA KHARIYA NEEV	PALI	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
865	REVENUE VILLAGE DHANTOL, TEHSIL GANGRAR	CHITTORGARH	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
866	WITHIN 2 KM FROM GOVERNMENT SCHOOL NAWATAPRA TOWARDS BENESHWAR DHAM RHS	DUNGARPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
867	VILLAGE BHANWARI TEHSIL PALI	PALI	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
868	Village Denda Tehsil Pali	PALI	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
869	VILL KURKI, TEHSIL JAITARAN	PALI	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
870	VILLAGE VARKANA, TEHSIL - RANI	PALI	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
871	EITHER SIDE OF ROAD CONNECTING VILLAGE TOKAR WITH DEVSOMANTH, REVENUE VILLAGE - TOKAR	UDAIPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
872	Between KMS 11 TO 13 on ODR on asarlai-balara-ultartech road village - asarlai	PALI	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
873	BETWEEN JAI JUNA BABA FILLING STATION TO VILLAGE RAMAWAS ON EITHER SIDE	PALI	RURAL	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
874	Within 3 KM on any road from Rajasthan Marudhara Gramin Bank in Village Giri	PALI	RURAL	50	Open	СС	35	35	1225	16	6	Bidding	10	4
875	EITHER SIDE ON ROAD CONNECTING PADRA TO PUNALI KMS 12 TO 14 ON ODR 5	DUNGARPUR	RURAL	50	Open	DC	35	35	1225	16	35	Draw of Lots	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website ( www.hindustanpetroleum.com / www.petrolpumpdealerchayan.in ) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC / ST	3000		CFS	SC / ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular ROs	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 10 years and renewable every 10 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the Right to Cancel / Withdraw / Amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction / information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Address of Regional Office	For Districts
HINDUSTAN PETROLEUM CORPORATION LTD. JAIPUR RETAIL REGIONAL OFFICE TEL BHAWAN 1ST FLOOR, SAHKAR MARG JYOTI NAGAR JAIPUR, RAJASTHAN - 302005	CHURU, HANUMANGARH, SRI GANGANAGAR, ALWAR, DAUSA, JAIPUR, JHUNJHUNU, SIKAR
Contact No - 0141-2745004	
HINDUSTAN PETROLEUM CORPORATION LTD., JODHPUR REGIONAL OFFICE, BHAGAT KI KOTHI (NEAR HPCL LPG BOTTLING PLANT), JODHPUR, RAJASTHAN - 342005	JODHPUR, NAGAUR, BIKANER, JAISALMER, BARMER, JALORE
Contact No - 0291-2747180	
HINDUSTAN PETROLEUM CORPORATION LTD., KOTA REGIONAL OFFICE, 3-A-5, RANGBARI MAIN ROAD, TALWANDI, KOTA, RAJASTHAN - 324005	BHARATPUR, DHOLPUR, KARAULI, SAWAI MADHOPUR, AJMER, TONK, BARAN, JHALAWAR, BUNDI, KOTA
Contact No - 0744-2422411	
HINDUSTAN PETROLEUM CORPORATION LTD., UDAIPUR REGIONAL OFFICE, 36, I BLOCK, 3RD FLOOR, NATRAJ TOWER, NEAR RAJASTHAN HOSPITAL, SECTOR-14, HIRAN MAGRI, UDAIPUR, RAJASTHAN - 313001	PALI, BANSWARA, CHITTORGARH, PRATAPGARH, DUNGARPUR, UDAIPUR, BHILWARA, RAJSAMAND, SIROHI
Contact No - 9034733331	